o
st M4 =HO|OF.
2 Of: L= ZH OIS0 OFSCH2 o0l H23UCE. s 20|
= SO0ISHE0| UAUKX|T, Lis 10| 7HX] AT A0, L=
oS M2t 20 MYS HAUTH HE =ZH0|ATY. / a. A b.
=015¢
3 H: Xz Ul &S Hadl S24?

Of: b. OtLL, O + 0L, X HH| UMK/ a. U, 22

AO|Lt Ot AE S0 7P et FLICh

N
ﬂJ) M= S 0 pp.8-11)

1) Quiz 34 | (1) 017t SheO|22 beSAte| SxH
S is7} Lairt,
(2) 01 We7} 240|922 beSAlo| ZHHE were7t YULH,
0{2] | classmate 22, £t &7

2 Quiz 38i& | (1) =0 My little brother7t 3212
H0|E2 UHLSALS| SIS "SALRIE+-(e)s, FEHQ! likes
7h Uit
(2) 2% =ofl yesterday 7t YD 2 ABH=ALO| T}AHE studied
7h gttt

1-2 (1) was (2)am  2-2 (1) drinks (2) played

12 #141 | (1) 0] Yesterday7} 3912 E12-0[ 11, 27{310)
LIQGIEE was/t YSICt,
(2) 07} i/ &xfel Mg ofopr| ||
541 9loT@ amo| Uatch o
514 | (1) OfFI= Lko] MA0[4Ct, 8.0

(2) Xz L= Safdolct,
2-1 &M | A: 201 2Y0|S Ot FO0f3H.

B: Lt= H0i|l 2142 1A0ISS =01

a4 | (1) &0 MomO]| 3213 tH40|E2 "'SAESH
+-(e)s, HEHQ! drink MOF BICY.

(2) T}72] YU 0[0}7|5lT UCDE, TEAIYEH+-(e)d,
SEHI played 2 MOF SHCY,

3) Quiz &i¥ | (1) ~& 5= ACkek= 58 - 7K 9
0|Z LtEHH= ZSAk= canOlCt.
(2) ~& Zo|ctek= 0j242| 20|15 LiEHH = ZSAt= willOICt,
(3) ~UX|= BRECtEh= ASt FE5Z LIEHEE 2ZAhE may
olCt.
012l | go on a trip {AHS 7t

4 Quiz &iE | (1) ~Qol| SEeiCets 4t F59|
o|0|E LEH = 2SAH= mustO|Ct,
(2) ~5lioF L= THOI2Z must?t have to2] A had
to7} YL,
(3) ~8t= A E7CHel QU2 SUE LEUH=E ZSAE
shouldO|LC},

3-2 (1) can @) will  4-2 had to

3-2 GHE | ZSAt can0| 53 - 7ks(~& = UCHe| oj0|2
MO|H be able toZ, will0] OJ2{(~[&] Zd0|ChHe| 9
0|2 M0|™H be going toZ HHY £ &= LY.
541 | (1) XILkE 570 201S & 4 UL
(2) 2l= HiH|RF TEIE & A0|Ct,

4-2 oiE | '~o{of SITHEh= Q0|2 R E LiEtl= ZEA
must= have to2 HHY £ 5= U1, A2 had toE
0|8stt.

pp- 12~13>

1 (1) is, 2 @Xt= A=l ACt (2) were, Henry2t
Noah= 52| Al Tofl THEZACE (3) was, A ©F Of2[7 LY
H2| 2ol UKACE 2 (1) like, Li= 8kt o5t 015t
Ct. (2) reads, OHiit= A22 e{o4ICt (3) put, Ot0|= St
AlZ Fof| Y= MEZ|of Ak 3 (1) may be, I Lt

1% SAtZSAL ]



4 (1) should eat, 22| Ot

£ 90{0f $tCt. (2) must come,
Charlese 9A|77LX| =020k StCt, (3) had to leave,
Jammy= Al=2 Lok }C

1 4 | beSAte] HXHES am/are/isO| 1, *~O|Ct/~SICt =
= (~0ll) UCFZ SHASICE A2 was/were0|1 ~0|
CH/~ZUCY = " (~0f]) AUCHZ SHAISICY,

(1) F0{7} 3218 40|22 beSALS| M is7t MQALCE,
(2) F07t 50|22, beSA2] UHY wereZt ALY,
(3) 017t 3217 H0|22, beSA2| THE was7t M
Lk,

2 GHE | YHESALL| XY TSAIREE(+-(e)s).0l1, FE ~
SICHE SHAISHCE UAYES "SAIE+-(e)d) B =27
HEHO| 11, 2 ~3HCHE SHAIGITE
(1) 017} 10|22 UHESAtL| HIHHO = SAHHH like7t
ML,

(2) F0{7} 3Q1% 0|22 UHESALS| SITYZO 2 "SAL
&i+-(e)s. HENQ! reads7t MRULH,

(3) LBESALS| HAHYOZE put0| MAULH SAL put2 SIXY
Sut HHHO0| 22 S5 SAfo|Ch

3 e | ZAt mayZt £52| Q0|2 MO|H ~AU[FXE 2
Eryeta shAstd, willo] O)2He| oo|2 M0|H ‘~Q[&t]
Zo|Cratn shMSiCt ZEA can0| 58 - 7+s2| 0|2
MO|H ‘~& 2~ QICYEET SHAISHCE,

4 A | ZEAF mustlt shoulds QJR(~3H0F SHY), &1(~

te= Al £ S92 20|E LIEHHCt, o & LEH=

must2| 2HH2 had to(~5HOF FHCHE 0[S 3HCH.
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pp. 14~1 7>
H2E] [ maom |
14 | beEAIS] B2 beZAt S0l notS MA| BHELE,
8141 | (1) Li= MMEHo| ofLc,
(2) OO, 42| 7H= ARFSIX| 2Lt
(3) 1= QU SX|Z HIL7} OfL| AL,
(4) AFIHS2 0|2 0]l UX| QUL

9 35! QoiF2F BOOK 1

gtol 2H|
1 (1) is not[isn’t] (2) am not (3) were not [weren’t]
2 Junho and Mark are not on the same team.

Ao

1 i | (1) 0 Chris7t 321& ©4-0|22 are not2 is not
= isn’'t2 1IX0F St
(2) am not2 &0 £ 4= 8Lt
(3) =0 Brian and Jack2 240|122 were not £
weren’'t2 1 X0f SiCt,
541 | (1) Chrise &17F LEX| QAT
(2) Lt= 2I=0t0[7} OFLCt,
(3) Brian2t Jack Yt 517} OFL| AL,
01| | only child 2IS(Z - 0}5)

2 oiH | beSAR EHEO0|2Z, 'F0{(Junho and Mark)
+beSAHare)+not,& HA A1 E|0f on the same team

= 2L

HEF2 (maogm |

i | bedSAL HAHHL| 2ZE2 "Was/
Were+3=0{ ~?,0]|11, 3=0{ Sora and Mia
7t 20|22 2|ZE2 WereZ A|ZfBiCt
oA | A2tet Ojok= Xt oS0l m2|off U
ALY,

® A2tet 0|0tz X 1 S00 of2[of AU
LI?

1Y« \]|

2901 ZHI

1® 2 Areyou,No,I'm not

Ao

1 SHE | 30171 321 B [ beSA SIXAL| QZE2
Mls+F0{ ~?,0|22 FO0X XS ERECE MM |s
chicken pasta Lily’s favorite food?7t EICt. I2tA &
B2 2= 2 02l chicken pastaO|Ct,
5H4] | X171 DfAER= Lily7Zt 7HE Z0fsh= S410|Ct — X|
7l MAER= Lily7} 71 E05h= 24127197

2 G2 | beSAI| ARER TbeSAHFO0] ~2,0|11 £HO| Cf
22 "No, F0{+beSAHnot. 0|t | am2 I'm22 £0¢

&4 ot

o

23 (wmaom |

oHa | Z0{7t 3QIE thQ I UHISAL SR EHE
Oj+doesn’t+SAI¥E ~.,0|1, 07t 52 M= "
+don t+SAHHY ~.,01Ct,

r

ro
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2 4



a4l | -Sally= XIZ MS0il AX| =Lt
+Jadenit L= LIS OHAIX] §4=L.

ol ZH|
1 @don't®didn’t 2 did not[didn’t] close

1 5k | @ F0i7}i9l Ut SfEel £ HR2 | don'ts
A2~ 01Kk © 2

=1
2GI0| =0 +didn t+HSAMH J°|':f
5141 | +LK= B 212 SOISHR| Hr

*Harry= 0K =fu0i] ZO7HX| 9:91& = HAE KiCt
2 &hid I SAt closed?t BAHZHO|EZ UHFAL LAY £
Z0{+did not [didn tH+SAHES ~ O F MO} STt

(o]
I_
141 | XIZ 22 B9t - KI5 28 7 29l

|
(L

HEFL [ maom |

Sl | B7t "Yes, 3Q1&! Bt F0+does. .2 HICEE A= F
FSAL SIMEQ| O|FE "Doest+F0{+SAt
2 4 Lt

AN
A O|C|HE 0|26}Lt2?

2
N
w
ro
()]
rm
i
ro
ne
I T

o

a4 | A:Ben2 A
B: U, I8Q.

2101 2l

Do, teach 2 Did Kathie eat pizza for lunch?

[

-

34 | 2047t 24(Roy and Troy)Q! LHHEAL SIX{SQ| 9f
22 'Do+F0{+SAIHE ~?,0= ALt
541 | A: Roy2t Troy= LAOIA EHEEE 7I2X|LIR?

B: U, 22iQ. OS2 LAGIM EIEEE 7IEXR.
2 G | LESA A QREER Did+FH+SAHY
~?,0= 2Lt
5H41 | Kathie= &A0)| TXtE o
OIXtE HALIR?

QICt — Kathies HA0]|

@ DL 113 HEl O pp. 18~19>

1@ 2@ 3@ 4Areyouready 5 shedidn’t
have any good ideas

1 oHE | beSAL ENHES 'F0+beSAHnot ~. 20|, @2
HIZI2 beSAIQ| 20| YO BT Z not0| SO{Z 4 it

54 | @ 2= &= S410] OFLCH
@ Noah&t Owen2 4&0|7} OFL|Ct,
@ el= 1 ZFof| SUACH.
® 1 AEUS2 Z340| OFLIULCE,
013 | twins 4S0| textbook WA shelf Mt

2 Sf& | LEtsALe| o222 "Do[Does]/Did+F0{+SAH
& ~?,0[Ct. SA take2| UAHAHC! took2t HH HF last
semester’t MFOO= OIFF 2 Did= Al&otl =0 Ct
S0l= SAHHYS 20
541 | Julie= K| 817101 O wa~HO| g SULCL
@ Julie= Xt 317(0] O] W=EH2| =i SULIR?
02| | take a class =2 ECt professor ul~
semester &}7|

3 G | 07t youQl LS} SXHEL| Q|20 CHSt CHE
2 Yes, | do. E= No, | don’t.2 Si}.,

SHA | A EAIS FRIMOZ QEFILIQ?
B: U, J21L. XM= MY M0 XS0l 72,
02| | work out 2S5ICt regularly #RIHOZ

4 SHE | bedAt L AZEE "Am/Are/Is+30{ ~?,0]
1 HE2 "Yes, F0{+am/are/is.. £= "No, F0{+am/
are/is+not. .2 3T}, 0|0{X|= CHEO| No, I'm not.0|2

, HE22 Are youZ A|EfSITY,
X2 s | @52 S8t AL0|Ct B2 34
SICt, OHitt= & 2401 Al
Oftt: X|210F, Z=H|=|RAL|?
X[2I: Otkr, OF HRAOL.
Ottt AM=24! =7ICH
Ltz =S =0t H2lE Y=ttt L 749
ZH|7t = UCE, -

5 G | YHISAI LA™Y EHEE "F0{+did not

[didn’t[+SAMYE ~ O F 20t 6TH{Z MO 522 did
not2| £2t3 didn’tS 0|&SiCt,
X2 sHA | ‘oI 20IAH MiolA 71 OFSCER AE 12
ML, Ol TAIEP7t 7D U0, 21 O|E MMEHHAM
LSS “LIOIA 71E OFSLE2 A2 E71?” Nicole2 E
A7 SOt MZESHX|AE TJlH= £2 MZ2H0| [REX| LQULY,

@ T4 IS T O

Pp- 20~23>
HEH ] [(maqm |
sl |~ 27t elrrats B F50| ojnjs ZEA

M3 cannot [can’t]22 LIEHH 4= )L}

t can? &

13- SARLESA 3



1 (1) cannot [can’t] swim (2) may not be (3) will not
[won’t] take (4) are not[aren’t] able to answer 2 It

will not [won’t] rain tomorrow,

1 & | (1) ZSAL EHES ZSA FOH notS MA] LIE
W22, cannot [can’t] swimQZ 1T X{0f 3tCt,

(2) may not2 E0 MX| OO Z may not beZ X0}
Sttt

(3) ZSAL EHER "FO+ESAHNOH+SAIEY ~. 0|12
2, takesE takeZ 110} St

(4) 5 - 752 UEHE= can? 2XY cannot2 "beZ
AHnot able to,2 HHY £ 4= CEZ are not [aren’t]
able to answer2 11 X{0f 3trt,

54 | (1) Ellas =¥ & = QlCh

(2) DR2 LI 42t0| ofg x| 2L,

(3)a= EH)KIE EFX| 942 Z0|Ct,

(4) 252 1 ZE0]| CHEE == Sict

oA | ZE%M wille] B2HEE2 'Z=0+will not [won't[+=
Ar ~ 0lICt,

541 | LHQJ2 HI74 2 0|} — LHY2 H|Z7H 2X| 942 Z40|Ct,

N

=2 [ maom |

d | ile] QZE2 "Will+F0+SAHE ~?,0|2 2,
HE 2&2 Will you go to the party tonight?0]|Ct, 2t
MM HMZ Q= 32 SAHE goOlCt,

(IJ-)I
£,
B3

-

® 2 Can[Will]you open

1 & | ZSA may?| ZE0 gt CIE2 "Yes, 01
+may.; &= "No, F0+may not..0|11, 0|0{X|= CHEO|
M ZERIEIO| B RO OO 2 HXO| [HH0| LTt

ST | AL HI7E 07101 RKGHE E7R?

B: OfL|2, ot EL|CH FXIHO| 2 5012,

s | ‘~olf Z2H72t= 29| 20|0|E22 "Can you+SAt
S ~2, FE= "Will you+SAHIE ~2,0] LaiCt,

N

40442 BOOK 1

I
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201 ZHl

1 ® 2 You must not make noise in the library.

SUEREERIE

1 &2 | ~g 2RIt gtfets 2229
321 HQl sheO|E2

don’t have toZ #LC} F0{7t 3

don’tS doesn’tZ £2L},

02| | charge £X5ICt laptop LLEL (HZE) full 7t58t
2 ¥ | EXI(~otH oF EICHE LIEHE M= must2| B2 EES

0|88t & A2H 'F0{(You)+must not+SAHES(make),

2 M1 FHol| SAte| FX0{Ql noise2t A in the

libraryE Xt#i|2 2Lt

012 | make noise (A|1&A|) MSCt

HEF L ([ ms o
i | ZEA mustl| 2222 "Must+F0{+SAHIY ~?2,0|11,
E2 Yes, £0{+must., E= "No, F0+must+not. 0|C},

aHA] | A: MI7F 21 XIRME MIESHOF 5HtR7?
B: Wl, 12O BHLICE,
02| | application X|&Al in person =& submit HISdICt

2ol 2Hl
1 (1) Must we leave (2) Does Jane have to attend
(3) Should I say sorry 2 No, you don'’t

1 s ()=
~?,0|L},
(2) have toQ| 2|222 "Do [Does]+FH+have to+SAt
@ ~?,0|Ct,

(3) Z8At should?| 2222 "Should+F0{+SAHEY
~?,0|L},

a4 | (1) REle 25 UM MHLIOF 5HLR?

(2) Jane2 11 &|2J0f| EAd5HOF SHLER7?

(3) L7t 101 AH| X OJQISHCH D SHOF 772

2 &2 | have toQ| o220 CHEt LHEE do = have to
£ 0|8e & ULt HIZHo] M| 7Ho| 1, 0|017(|" uHeoz &
OF 20| [HE{0] 22|22, No, you don’t7F SO{710F
SICt

SAF must| Q222 "Must+F0{+SAH

Wi ACKDH MRS Kiga0r e
siLte? b
B: 0L, 72 B giaLIC, b

I:-I'O IZIEOIL“:I-




@ m HI3 et 0 pp. 24-25 )

1® 2® 3@ 4 Viruses can’t live here. / H}O|
2A= 0f7|0fAM A 2= GiCk. 5 No, he [she] doesn’t
have to.

ro _9.;=
ﬁ_‘ nx
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B 50
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El
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® Tyler2t Hi|= LU & 4= UCH
02| | do ballet W&|E stCt

2 GHA | Ho|E =T ot ElCh= 2|0je| X022 FXIE Lt
EHH= must not2 MOF §iCt don’t have toE 22QE
LHEHHCY,
a4 | @ He SSS0A ':”OI%—’F— | 92=L.
@ 4z SES0H HolE F?_Ef.
@ U= =SS0 HoIE of
@ U= s=S0A ”*OIE Egeiel
® He= SES01H HOIE FX| 242 AO|LCt,
012] | feed HO|E FLt

3 G | ZSAIC| A2 Z01 CHet CHEO| S70IH MYes, 04+
ZEALLE, 20| 'No, FO+ESAHNot. 22 BTt @
9| BE No, you may not. O 2 EH0} STt
aH1 | @ A: T3t E HORFEAIA0IR7?
B: W, 2EAH L.
@ A: 49| FHH2HE LIoIA| LEE o= ULI?
B: 28, daE = UKL
@ A: H|7t E|ZUS ALOF RHLI7II?
B:OfLI2, OE T g0,
® A: oftit7 = 22| 8 MES HE 5 USIN?
B: 8, 1= & M9S HE 5= A0,
02| | answer the phone H3tE BTt lend 'L2{FLCt

4 oY | 5 - 7ks5S UEH= 23t can?| 2EE2 F
+cannot [can't +SAIEY ~ 0|CH, ELUS MEtT Yo
0= can'tE 018511, (F0{)7} ~& = QLY E siAIsHOF
it
X2 oi | g Mz g@=30M o B2 RO J= 533 B2
1 AS7|X[OM REIALE YL O JR0IMe detg
U701 7|=34CL.

pr_'E!
-0
ﬂ

ore
=

5¢ 30
20p7} AL EIC}, Hat Ho| &4 St ﬁ
S0f| [ QUACH L= si7t T=CH MY - <
SR A0 Z2|X] =Lt bt _;-‘ qu
0|2{AE 07]0f A & 4~ QT D

5 o | R - HQE LIEHHE= have to? QEER
Do [Does+F0+have to+SAIHEE ~?,0|Ct, WIHZ 2
O dgte St Moo 2 239l IiE?! No, he [she]
doesn’t have to.2 MO} i},
X2 54 | Gibson B8 SIS0 M7t FXH 2=
O msest L2t2 0|33, fEl= 2|HE MED VAL HEl
2 Y02, 2|6z 22E 0|Z0{0F sh=dl, IR 12 20|
OfLIZ. J2iM 2= &2 0177|7] 9IoH WIHSHH REML.
0|H o2 22|= 0fF H| 0|5E 4= UKL,
541 | Q: gt 2167t LIMXIE Z7tK| QHHSHOF SHt?
A:OFLIR O3 Qe U0,

ﬂJ TaH THE M2 0 pp. 26-29 )

1@ 2@ 3 (1) was (2 wasn’t 4 (1) build (2)
grows 5 Mary does not [doesn’t] buy things
online. / Mary= 222192 715 AKX| =Lt 6 @,
@ 7 (1) ©, listens — listen (2) She doesn’t shake
herhead. 8® 9@, ® 10 (1) must[should]
not wait (2) doesn’t have to wait 11 Do | have to
explain it again? 12 (1) should not [shouldn’t] sit
(2) should not[shouldn’t] take pictures (3) should
not [shouldn’t] cross the street 13 The club will
perform at the school festival next month.

1 &4 | 2IZE F0 beSAtareZt QLB Z HIZH= 24 F0f
7} 2L0f $tCt. He Foil= is7t 2L
54 | Ele[as2/U[Hs]l=/Jones M EEE] 0] 2A
Ofl CH3H Z=ZHSHCH.
012! | curious 338t issue FH|, 2H|

2 Gid | O|0iX|= LIBCE HO} HIZHoll= £-E0| S0{710f
S} Kevin2 3213 ©40|11, Whales= 540|122 22}
isn't2t aren’t7} YLt
541 | «Kevin2 7|7} &X| 4Lt = 7|7+ 3L,

12 SARtZSAL §



<J2li= iR/ 7} OfLICH JRSE oY ZRSSOIC

12| | marine mammal Y 2RSS

514 | (1) 301 your mother7} 391! ©t4=0|11, 10 years
agoZt MHE LIEHHEZ beSAte| MHEOZ wasE M
Of SHt.

(2) H1ZH 0] No7t U282 2XS wasn't2 Ef5HOF it
541 | A: OJLIOf, 12| O{T{L|= 10 Hoi| 2SERpIL?

B: OfL], JlH= QA0

013 | vet =2JAt (= veterinarian)

ah& | (1) 017t WeO|E2 SAH TI0Z buildZ L.
(2) 0 Lucas?} 321E H4-0|22 "SALE+-(e)s, EY
Ql grows=Z 2L},

012] | sandcastle 224 grow 7|2Ct

sH4 | 0 MaryZt 3213 H40|E2 2EHE2 does
not [doesn’t]S 0|83, (3=01)7} ~5FX| QH=LI'Z sHA
SHOF SHCt,

S | Mary= 22192 S48 ALt

S | FOIZI 229 T lan 3Q1A! TH40]|1, meet2
UBLEAOICH D meets not — doesn’t meet @ mets
— met, YESAL| HAHY= -(e)sE 201X Y=Lt ®
Was — Did

541 | lan2 MM RickS THALCE

@ lan2 MSZO|IM RickS 2HLHL?

@ lan2 MISEO|A Ricks THEX| 2ULCE,

514 | (1) © F0| people 3212 20|22 ULLE AL
SMHOZ SALRES MOF SHCE M2LA listensE listen
O=F 1X0f STt

X2 M | 2= AEES] st
ot UCt = RO 2{0A HO[Z
ZE AFSIL, AHEHER2 ZE9|
=0 L= W XR2[0lA BX(=
Z{ZIC, Aoke] 20| W Ct2| 2o
£0IC}, A= WIHE MoAlct
L= Z83] otot QCt,

012l | stage 2 seat XI2|, =M leg Ct2| shake ESCt
(2) 017} 3218 HY I UYHESALS| EHES "F0{+
does not [doesntHSAFRIE ~ 0|11, EUUS Matd
O8O shakesE doesn’t shakeZ HHY £Ct,

514 | @2 ZSAt can2 39| 2|0[0|1 LIHX|= 2F 5
g - 7k59| o|0|2 MLt

s | @ 23 MAS & 4 AULIR?

@ fL= 2318 &+ ULL

@ 54 & B0 Z2?

@ 1= 3=01E 2 2+ UL

ro

32

6 =3 FoiFk BOOK 1

10

1

12

13

® g2 1x0] 200H G245 2= ULt
012l | play chess MAE SICt sign language =2t cap

S flap (27HE) H={AHz2IC

51 | @ is — be @ plays — play @ may park not —
may not park

541 | @ J2 AFEY 217} Qict

@ Harley= OIS & £ ULIR?

@ Y42 0]320f| FXIE ofH QF FLICH,

@ W7t ZAIo Mg i ER?

® Jake= WY LIE LE5HX| 42 20|t

013 | park F=XF5ICt

s | (1) ~otH ¢ "CPEt= FX[Q 20j= "must
[should] not+SAtIE,C 2 LIEHACE

(2) ~& o7t gicrets 2Rl 2l0j= "don't [doesn't]
have to+SAtHEY Q= LIEHHCE,

54 | have [has] to2] 2222 Do [Does]+30{+have
to+SAIEY ~7,2] OO = £ALY,

SHA] | M8 ChA| AHGHOF SHHR?

ShAl: OHL|Q, T34 TQ 209,

02| | explain AHEs5iCH

s | O3 & BEXIHO| FXIE LHEHHLD JCE 2, should
9| 2M3 should not &= shouldn’tE 0|&510 2&2
2H3HOF SHCt

ahiad | (1) SA2 HIX[0f| e H oF FTt,
(2) SL2 OIS ROIM AREIS BOH OF FITt

01| | art museum OJ&2 cross the street Z2 ZALCt
s |~ A0|Cy2t= 2J0|2 D|2HE LIEH = Z=SAL will
£ 0|85}0] "F0{(The club)+ESAHwill)+SAHH
(perform),S MX M1 ZEA(at the school festival)2t
AlZHnext month)2 X2 2201,

|Z a4 | ofITI0|7t 71E Z£0teh= F 0= SOICt 1L
& S0t2|2] A 2|Z0|C}, 3|ES2 EQYUOICH ot K|
OF oM & SEE AL 2F KITI0l= e

=
o
HRT It T SOl TS 2ol tm FROA Bret

or A
wE A
ily

rir

SN mo Ho
[==

°
O

012! | perform Setaict
festival SH| '




PP 30~31>

1@ 2@® 3® 4@® 5 Maylpay 6 you
don’t have to 7 am, aren’t,is 8 (1) Kate broke a
dish last night. (2) Kate did not [didn’t] break a dish
last night. (3) Did Kate break a dish last night?

1 &4 | @222 Am | ~20] CHEH HE2 2™ [ Yes, you
are.2, £82 M No, you are not [aren’t]. 22 $ITt,
S | @ Ar G412 mF S| HALI7F?

B: OiLI2. K= 2L|Q] Bt HO|o|2.,
@ A: X3 SHIf| XHZ HLI27?

B: U], ot

@ A: G2 SO EHO{GILLIR?

B: OIL|R. K= AIELI0IA EHOISI0L.,
® A: BettyZt 102 H0j| 07| UALIL?
B: U, AUNL.

2 G | dutSAL HA™YS| BHEES F0{ F0i| "did not
[didn't+SAHHE S 2L,

5l | BIEOl= STX|0IM B2 FUCE — @ TIEO|
ZTIX|OIM R= TX| LULL,

3 GHE | ZSAt willO] ~[Y]E A0|CEk= Oj242| oJO]|2 At
Z5|™ be going toZ HHHY & 5= ULt F0{0]| M2t X5t
beSAE M11, going to F0fl SAH0| 2Lt
54 | L= 2 AIZE 7H-de Ao|Ct,

012 | open a bank account 28 HZtZ 7HMSICH

4 S | TVOIM & oM = £ ek= 12| o|0|7¢
KHAHRE 2 ZEA} should7p LaiC},

54 | A: Andy, U= TV HF 717710] 240k U0, & HOIK
o= H ERUC.
B: U0,

5 &lid | Can | pay ~?7t ZHsHE HLIL7 2= 51712] 2|0
£ LIEHHEZ May | pay ~?72 & = LY.
a4 | MBIIER HABHE ELIR?

6 52 | have toQ| Q220 [ CHECE SHR(~E ER
7t ICHE UEHE M= "No, F0{+don’t have to., &&=
"No, Z0{+don’t..= £LC}. IZ EU2L| youZ HEHCt.
i1 | A: X= XIZ HLIOF 5HLtR7?

B: OfLI2, O3 T QUELICEL 0f7|M 102501 Za2|X| &
0.

7 i | beSAtel SIHHS F0{Q| AR =01 A am,

are, isE 2Lt beSALe| RFHEE bedAt HIZ F 0 notS

M7 js not2 isn’tZ, are not2 aren’t2 E0{ £ %= ULt

rr

=
=

= . O{ Shd
ZUK|2 AHGHK| ORMIR. X a3 5=
012| | be good at ~= E5iCt
54 | (1) ZFAHZE LEHHE= last nightO[2t= ESH0| LIS
B2 A= 2HE(broke) 22 2L,

(2) LetSAL AL EHES "F0{+did not [didn’t]+
SAHE™ ~ 0[Ct

(3) LEtSAt AL 2R E2 Did+F0H+SAHEY ~7,
O|Ct.

541 | (2) Kate= OO THAIS THEER|X| QARUCH

(3) KateZ} O{BILI0]| HAIS THEFLI?

012] | break THEEZIC} (—broke-broken) dish FA|

S
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124 T2t

pp- 32~33>

1® 2@ 3@ 4tQ@ 50086 6@
7 No, they can’t. 8 began 9 saw, were, gave,
was 10 (1) I will not[won’t] go to the zoo again. (2)
Will you go to the zoo again?

54 | UHE LIEHHE then, 5 years ago2t 22 HE0|
MAOOZ ZAE MHEHOZ Mof ST} FO{7F 22 o
beSAIS| UHE2 wereZ £2Lt,
5iA | - 22 010|S0| O 2

0| USCH, B
-PaulT} lvyl= 54 0| Bt ZI7 * o
AALTE X i

-

02| | playground 2%
SHE | ® 0171 3QUE T M UHSAL AL Q2=
2 "Does+FO+SAIEY ~2,2| YE{OICL, [M2tA DoE
Does2 HIOF BiC}. © UEFSAF AL BHE2 "F
+did not [didn't+SAEE ~ 0|22 likesE like2 11X
Of St

i+ | @ Ofxl= HiZHO| 0| EULCH.

@ 0| RF= LMEIIR?

@© Dominic}t Karen2 O 04 & CH7}t OFL|CH,

012l | windy HIZ0| 0| 2= jeans HHIX| fresh 4145k
teenager & T anymore O 04

54 | ZHAE LIEHHE= last month2ks E30| A&

=
SAH AR 2ZE2 Did+F0H+SAY ~7,0|1, 304

3y

re
o
[
=



10

7H121 BEEAtS| B HEL M don't+SAHEE ~ 0|Ct
SHA | - AR XL SX 452 woNLe?
- L= AIEO| EX| 2Lt
02| | eyesight Al
A | ZSAL R0l SAFERO0| 211, RSAS| BHES &
SALFOf notS £2LC4.
541 | @ XHRI0|= ShitE S Z0IEX|E REL,
02| | be fond of ~2 Z0I5IC} seafood dlittE a friend
of ~2| 17 cancel A5t reservation O2f
sleeping habit & HZ
4 | ‘~5Hof St Et= 2J0|2 2R & LIEHE X A=
should, must, have to7} QICt.
02| | gather 2OLC} data Xt=2 by ~77HX|
s | @ ~olf FAIZOL?7 2= 20|17t =2 canO|Lt
will2t Z2 Q9| ZFA7H MO{0f SICt be going to= ~
2 Zi0|Ctet= O|2Hel 2|0|E LIEHACY
012] | diligent &St turn off IICH heater H47|, 5|E
contest i3]
5 | ZSA cang 0|88 QIZ20|1, theyE EESI
M| THol2 259| tiES 2+aH0F StE2, No, they can't.
2 2L,
S | Q: WA Bt R E 2 ULIR?
A:OtHL, JRS2 E & UL
01| | ostrich Et=
S | W= F2f last week7t HHE LIEHHE R, UdtSAL
begin?| 1A began0| YLt
A | SASZEEO| X|H30i AIREIULCE,
02| | begin AIZ{SICt (-began-begun)
SHA | X BEQE HOL 7| FAQ| S0IM I JUH &
SO0l CHal A1 QUen = SAh= HAHFPYLE M= 20| XA
AFLCE
X2 oH4 | =5t U - 8 20Y

= HE L= SS20i| UL 2= B2 S22 EUCL
L7217 e HHRoH & L= 3;“
FAHA HOIE U=l O} W 7|
QICh Li= SS90 Al 2 A S
=
012! | raccoon 4+2| goat G4
S | ZSAL wille] 2EE2 "F0{+will not [won'tH+S
AHE ~ 0|1, Q222 "Will+FH+SAtRE ~?7,2| HEY
O|ct.
541 | (1) L= S= 2ol ChA| 7EX] 42 ZAO|C
(2) L= SS20f| CHA| Z 74L?

8 35! JoiF=F BOOK 1

A1 are 2 were 3 is not
cookies every weekend.

1

Zr0|. g2 T HEF O, ©

Pp- 34~37>

4 you B 1 Suji bakes
2 My brother did

not [didn’t] buy a new computer. 3 Do you do
your homework after dinner? C 1 can dance
2 mustbe 3 willgo D1 Paul 2 Emily 3 Ron

A1

B1

c1

D1

34 | 0] Sophie and CharlieE= 40|22 beSAl
O| HIXHHOZ are7t LIULE,

54 | Sophie2t Charlies= A 2H0f| ALY,

54 | 01 Liam and 17} 40|22 beSAt2| 24+
O wereZ} YLt

5l | Liam2t L= X|FE0)] O HESCt

S | beSAS BHES beSAt Foil not2 E0|122
is not0| YCt,

54 | Brown M= Lt2| 32 MAEH0| OfLICt,

S | beSAtY| QRE2 TbeSAHFTH ~?7,9| HE{Z
beSAIZt F0{2| A0 RLEZ youZt LSICE

541 | Hi= OfH| Stuoi] ZA3HL?

012] | be absent from ~0| ZAI5iCt

SH& | 017t 321 T M UHLSALL| SIHH2 'S
AE+-(e)s 0|22, Suji bakes ~2 HFY £2L},

54 | Lh= 0L 27|18 S=Ch — Xl= Y0t
7|8 gL

514 | SA boughtZt buy®l 0|22 "Z=04+did
not [didn tH+SAIEE (buy) ~..Q = HFY £Ct,

SHA | Lo ™2 M ZBREE MLOE — LIl F2 M EF
EE ARX| 2ULCH

e | SA do= IHOIEE "Do(ZSAH+F0]
(you)+SAIHH(do) ~?,.2 = HHY £2LF,

a4 | Uz MY MAF 20| SHIE ST — He XY A
At 20| =H|Z SHL?

s | ~& 4 Chets Q0|2 59 - 7ks2 UE=
ZSAH= canOILt,

5

2 | ~Yofl SHYCHet= ofn|= Zet FES UEU=
=

S
5i& | ~& A0|Ct2k= 2J0|2 O|2/E UEHE 2SA=
willO|Ct,

012 | amusement park 0|52

e | ZSAk= 019 F2 X L2EZ Tony can
~0| LS,

a4 | Tony= 22 2 5= A0



Sl | ZSA| EHES 2SS AL FOl not2 MOf SHEZ,
You must not swim ~0| LT},
SHA | = 0] ZOojlM =FolH oF i,

3

541 | TEAQ| |22 TEAIS 0| Y0 MO} 512
2, Should we ~?7} QYT Dok YHtEAS| j22S
OIS I MLk

ot | 2217t 0] 2 2= ELH0F SHLtR?

1% - SAtZEAL Q



s [ 1 L= ot & Hofl IUAS B3 Xg2 Y =22 o

=
Cf, L= CFS 2ojl 2% 8 20/c
2 Eddie%t 19| oisie 2oy
7

Ct. /a. &H 72 AlZts 2RIC
3 Of: 2 ?loll F7IE =5

B 2 ORS2 ORI 20, L= OfE 29| L2t 7|2 H
N HEe,

4 g L= F2| 243 OFF RO| SO0taf. Li= ouf?

0d: L= IRSS A2 SX| 01 U HEX| 2E2S H EA ¢

TN
@ Hed S 22 ©

1 Quiz 314 | O{Hl(yesterday) MAZE st 20|22
t749| SZfo|ct,
54T | L= Ofd| g 77 HASMCE
012] | from top to bottom &H£H0|, FLA{ 714

2 Quiz &% | FMHZIHAES "am/are/is+SAH
&-ing.2| ENZ, SiXf Al™of| XIgY FQl ”
UO|L} SEHS LIEHALCE,
i4 | 5= 23 HIY7|E 2HE1 QUCE

02| | model plane 2% H|&47|

0|

ol

3 Quiz a2 | DIZHAINIE "wil+SAHE™.0IL Tbe
going to+SAHEY 2| HEH=Z 2L
ai4 | L= 2= 2ol S&oll & 7{oF.

012 | airport 38

1-2 T}, W2CH  2-2 is listening, 11 AUCH
3-2 g of”o|ct

1-2 &l | SAt visited7t "SAEZE+-(e)d, HEHO|LD, FHOf|
719] AEE LEHHE last weekZt Y202 2Xt0
AlMl= 2tAo|LCH,

03] | visit L=25iCt

2-2 o2 | "am/are/is+SAIEY-ing = SRR, ~

St QUCH/~6H= SO|CH 2 SHASHCE

10 st Hoixzt BOOK 1

3-2 34 | "be going to+SAFYY 2 O2HE LIEHNT, ~&t
oo |2t shAdStCt,
012] | volunteer work XtSAL

4 Quiz dH& | (1) AL buildingE #0l= 40
o|ct,
(2) At sneakersE F0J= 4=410{0|C},
5l | (1) 0|2 =2 HE0|Ch
(2) Li= M 233t |iCh

5 Quiz &4 | BAtverys EEAtkindE $AISICE
54 | 2= T2 ARSOA 0H ZI-sIT

6 Quiz &HE | "MRAHBAT), HEHS MR|AHE
SHSALKE YA FOIA 20l QL= HAIE $AISHTE
SHA] | 2 HE2|E 71X O4XE7} LY O|=20|Ct,

4-2 famous, REEt 5-2 very, slowly, 0}F HH3|
6-2 to school, 0]

4-2 S | A famousZt HAt actors $AISITL
02| | actor HiR
5-2 GH& | very2t slowlyZt SAOICE veryZt £At slowly

02| | foreigner 2|21
6-2 A | MX|AFT to schoolO| RAS LEHLH= SAL &t

T
21 T =0t 22t 0 pp. 4445 )

1 (1) was, Mike= O{A| OHIEA =% RURALCE (2) melts, =
2 92 siY ofgfollM ==Lt 2 (1) is washing (2)
were crossing 3 (1) Jake= LHE 0iS0] 512t0|2 0
si= Z Z0|ct. (2) R2l= ohS F0f SAtst] & off™olct,

(1) long, E2t= 71 H2|E 7IX|2 RUCL (2) cute, Ann
2t HO2 MM E 225t 5 (1) touched, Brian
LH O{7HE R2=EAH O{R2HRLCL (2) fresh, 52| S7|
Mot Aafsict 6 (1) of the soccer team, STEIQ|
(2) in the classroom, A0 A



1 &2 | (1) beSAIS A waset HHE LIEH = 2A
yesterdayZ} MO1 TIHA|K| 2E0|CY,
(2) LELSALC| SIS melts7t M1 SIXYA K| 2HO|Ct,

2 &hd | (1) ~5tn ACreh= Qlnje] STHTIHZH0| EH=F is
washing 22 AOf SiT},
(2) ‘~otal UAACHEh= Q0|9 IAHTIMHO| =HEE were
crossing2 2 MOF it

3 GHE | DJ2ol 2oie LoILt Oj2i2| A= "will+SAFEH,
O|L} "be going to+SAIHY.C = LIEHHLE

4 sHE | (1) E8AtlongO| Foll = BAF hairg 4511
UL,
(2) @&At cute?t FOfl U= BAF headbandE =415t
UL,

5 & | (1) 2A gently7t REEA {RLFHCY 2= Q0|2
SAttouchedE F=AI5111 UL,
(2) BA} really7t H2 “MaKsiCHek= Q0|12
£ A5 QL.

6 & | (1) XA of the soccer teamO| 22| HAL a
memberE 4511 ULt
(2) MXIA in the classroomO|
FA0Z ML

2; = = 220

M2 (zaom L

5141 | (1) last ~= DHHAIK|QF BHH| MOILC}

(2) now= SIHAIKIRE A MQICE

(3) yesterday= 2tHA|X|2} 1A MOILCH,

(4) ago= TAAIMIRL BHH| MeQICt,

3141 | (1) REl= XL SU0 EMTHO|A ZEIHCY,
(2) W &=2 XIZ M20i| AtAICE

(3) L= OfM| 2ZS0fl ZAC,

(4) Kevin2 23 H0|| 7202 MLt

=l

2At fresh

YAE UEUE BAA

pp.- 46~49>

=ol 2l
1MN@R D 2 brushes

1 & | (1) last summers HHAIKIRL &4 M0|= HHHO0|
902 AN SA@ joined7} 2I7H0]] ST,
(2) now= SXHAIKIRE BIH| MO0|= HHH0|22 SHRHAIM| S
A7t 2t0F 511, 2017} 3Q1% H4~0|2 2 has7t LTt
514 | (1) Julia= XIHOIS0] 22| 2oi| BHF3ACL

(2) XI=20l= XIZ B0 =¥ 0|°'Er
012l | join &FSICH lesson &=
2 A | sixfel HH=EX{O] mo
LIEH [ SXHAINIE 2L 30 2 209
7h 3Q1% HH40|22 SAFIE0 T AN

-esZ 201 brushesZ M= Z0| _3\) \'
0H:||'|:|- o

<

0{2] | brush one’s teeth 0|2 HLCt

rz.*.

=2 (maom |

54 | (1) SIXHEISHE "am/are/is+SAIES-ing.2 LIEIHD
2 doing0| 2}0f $it,

(2) now7t MO D2 HRYEISHSO| E|E 2 is7} 0f BHLY,

(3) UHE LIEHHE EHQI then0| MF OO Z IF{XISHS0| &

2 were7} 210} SICY,

541 | (1) L 2342 SHIE ot QUCL

(2) 2= Xz Mg A1 UL

(3) Jake2t Lt= i S~FE0f

201 ZHl

1 (1) is (2) were 2 She was watching TV at home
last night.

1 & | (1) SAt washes?} SHZHO0|E2 STHTISHO = M
OF 5t11, =017} 321 HH=0| 22 HIZH|= is7t LSIC
(2) SAt played7t HHYO|EE HAHZIHHCE MOF 5L,
Z0{7t 54 TheyO| 22 HIZI0lli= were7t LSELCH,
a4 | (1) Jessicae BHKIZ BICt — Jessicas BHXIE
T QIC}
2) =2 OfH| &M O
ot %1%'1}.
0{2] | wash the dishes AHX|Z 5}t
si& | ~5t AACH 2= 2fo]e UATIHHZ "was/
were+SAtEdE -ing,E HEILHEZ, watched&
watching2Z 1X{0} StCt,

ol
—1—

sl

UCH — 2S2 oM &7 OF

IU|ﬂ| ~
i

N

Iﬂ L
| °4IH 9| 9|22 2 "Am/Are/Is+FUH+SAtHH-ing
~?J HEE %Ef.
aiA | U= ARElg i QU
@ |-‘|“ ARZlg ®n %U—I"

OI'

2%« Ndl /2201 11



1 (1) are not [aren’t] sitting (2) Was he running
2 Is Tom painting the fence?

1 & | (1) SxizIbEe] 2 HES "am/are/istnot+SAH
&-ing, AHEHZ 2Lt
(2) ATl 222 "Was/Were+F0{+SAteH
-ing ~7, YEi= ££L0F,
841 | (1) 252 THC| f/0l| g0k QUCH — TS T /o]

90} K| UL,
(2) J= T FHS TAlT QI — = T FHS o
2|3 UULI?

012] | grass TiC|
2 o | HTIHHEC| R E2 "Am/Are/Is+FO+SAIEY
-ing ~?.2| =X2 £Lt
s | A: Tom2 SEH2IE Z5I LIR?
B: 4|, 12HL.
01| | fence 2El2|

F—-'.' 4 (=rom |
A (1) will2 0|2

%M%%LQE £204

(2) be going toE 0|85t O|2{AIH| 2AZE2 "TbeSAHFO

+going to+SAIEY ~?,9 2 2L},

2

St O[2HAIH| BHZL "will not[won’t]+

201 2Hl

1 @ 2 Are you going to attend her wedding this
weekend?

1 & | will2 0
2L,
012] | take an exam AIgS X|2Ct

2 G2 | be going toE O0|&S! O[2HA[X| 2/2Z2] &=A0| T}
2t "beSAHAre)+F0(you)+going to+SAtSH(attend),
2 M1 0| her wedding2} this weekendE £2L},
012l | attend &AISICH wedding ZE(2)

P
22; ma 113 D2l O pp. 50-51 )

1 (1) is, XI7= S2Ch (2) invented, MBS SIS &
ik, 2Q® 3@ 4 (A) forgot (Q)is 5 his
mother was watching him from the front row

et DI2HA N £HZ0HM not2 will 7ol

12 =st¥oizizk BOOK 1

1 & | (1) X727t S2Chs A2 YEEQI AFMO0|E2 SHIHA|
|7 LSt
(2) MIBLHO| sH=2S UHSE A2 IAE AMHO|EE kA
AH7F LSt
03] | invent &HsiCt

2 G2 | nows AIHZIRBY D, yesterday, last weeki= 1t
IS} S7H MOICL beSAt= F0{04 M2t SXHH am/
are/is2t IHE was/wereE £2Lt, SAt haves AR'E
LIEF [ TIHHO = MX| Qh=LC},

54 | @ He XIg TVE E11 UX| QAT
02| | backpack ti'd carry LI2Ct heavy 72

3 GHE | @ FO07} heQl HAZIMY /Z=201 Chet 282 T
=2 No, he wasn’t.0|Ct,

54 | @ Ar 4= 5HF Y S2 HIX|0)| tof QL
B: &, IO,

@ A: Harry= 12| %ol Xt AL|?

B: S, 1.

@ A: IS2 0| 2tetg 11 UALI?

B: OfL|, 234 X] LU0,

@ A: d= T2 @2 30 AUL?

® AUz X @ L= =1 AL?

B: &, 1ai.

02| | all day 5tF 2 science book 53 1t5t A
look for ~2 ATt

4 G2 | (A) AL 22 0075t 2B forgotO| LHLLTH.
(C) OF=0] L7t 5t Y M2tM USh= HEO0|EE is7}
U,

X2 ahiA | gt o AHE0| RLHOIM AT IS Sk S At
O| THAIS LO{HHRACE SEX|2F CHHS|T T2 O{HL|7t %=
OlM O XAED AACE TJ3= XRAIQ| 0LEE &7 SloH
251 3Lt SEX2E J42 A0 SIUCE TJ2hM = ¢
=2 A2 910 1 A 2o FUCL I Al 1142 of
S0A =20] =|X| LULCH T1H2| OFF2 01| M UUK
OF St O & =~ QURACE O
LY = J0A “Lis Ml4e
HO[CE 2t 2 25 AL 124
It 149 o522 211 2Est
FAZE 2| Hot= HAe
20|C}, "2t L3HCE,

5 a4 | "'was/were+SAIEE-ing.2| UAAHTIESS 0|5t
04, ‘712 o{HL|7Hhis mother) / XIZ{E1 AUCHwas
watching) / 1Z2(him) / =0 M(from the front row)’
o] £ = HYHSIT

2

L|?




pp.52~5€>

@ T HIS 2O

T2 (maogm

3“)\1 | (‘I) 342*}2 D=IA|-§ OI'()”kl AAI%H:_|-

(2) -thing2 2 ELt= HHAHE JEAZt FOIA 415
(3) Foll & 4= U= BAZE JUCEZ manyZt YT

5l | (1) Alexz M RHE MCt

(2) 2= TVOI| HO|U= 20| OFR A= QiCt,

(3) Angela= B2 27150] QUL

ﬂ
A
>

0

[

dl

1 (1) This is a funny story. (2) There are some
oranges in the basket. (3) She has something
special. 2 any money

1 &2 [ (1) SEA= BAE A0IA S4BT
(2) =S UEHHE F8Ahs BAF A0 MQICH HAL
orange?} basket2 = Ct & £= U= HALO|H, orange’t
SLE MQUOOZ 7 0l +HHEA f— AOF BT,
(3) ¥&At= -thing, -body, -oneQ 2 BL= LHHAIS F
OflA =AIBHCE,
i1 | (1) 0|2 0|OF7|0|Ct, — O] 42 271 0]0F7|O]LCt.
(2) Hi=tLoff QEX|ZF ALY, — HiALof QEX|7L Z Y
ULY.
(3) Jld= o 22 7EX|2 ULt — Tl = E4st of
= 7HK|2 ot

2 ofY | A some2 PEOILL HRE LEH= &
ol ALE3t 2 RFER0|LL 2|2 20l= anyE 0I835t &
2 BAISIT
aH&l | L XIZoil 2f2te| =0 ALt — L X|ZHofl =0 T34
2ACt.
02| | wallet X2

XY

r

=]
fin)

22 (maom
H* (1) HI=E A= ZSALF O fIXISHCE,
2) HiT ‘:'M"— beSAL F0| YIXISHL,
3) HIERA= UUESAL Q0] RIX[SHCY,
shiA | (1) Lf" i HAEZEE HHX| 4= AO|Ct,
(2) ERI0|= 718 &tw0f| ==Lt
(3) = EQUO| CHH &

ol

—_

ot Zi.

2ol 2Nl

1 (1) Kevin drives carefully. == Kevin carefully
drives. (2) I'm really sorry about my mistake. (3) Suji
usually skips breakfast.

2 go sometimes — sometimes go

Ao

1 i | (1) BA= SAIE QO|LE FO|lA] AT
(2) BAH= HEAIE LOf|A] 4G
(3) HI=E A= QHESAL 20H| 2L,
541 | (1) Kevin2 2H3ICE — Kevin2 ZHAEHA|
Ct.
2) L= L A0 Tl OQt5ICE, — Li= L Al4=0i CHaH &
ot O|9tSICY,
(3) #Xl= O}Elg HEL}. —
2 GHA | HIZRALE UHESA °*01|
MOZ sometimesS go A0
AOF BT}
s | Lhe mHIHE RI7Sat
STo 71T,

S|

—

F|O
Ho

S

z—\

03] | museum g2t

J‘-_* 3 (maom |
s | (1) SAt livedE £=A5k= £At happilyZt 2= 0| &
St

(2) lates= BAIZ "“SH'2H= ££O2 MO|X|Z -ly7t 2 lately
= E20l2k= e %8 7Kl SAPHEL.

(3) hard= "galdl'2ts SO BAIZ MO|X|2H -ly7t 22
hardly:= ‘72| ~ YL2h= CHE K2 71Xz RAPLHELL

a4 | (1) 28 BF= I5E AL Y=o AUT

(2) 2= 2 it HQICt,

(3) Ltz U= mZCE L= 72l ZS = gl

1® 2 fastly — fast

1 e | @2 'Ga5lek= 5o BA[LL, @, @2 020
2h= o FEAto|CE
541 | @ 7H0IS0] SAI5| Yool AULH.
@ FRh= JH0IA 0242 LolCt.
@ EHE 3 2 /= i oLt
012l | ant 7HO| parking Xt
2 Gi¥ | faste SSBAIA 2ALS| HEH7L ZREE fastlyE
fast2 11X0f SiCt,
SHA] | O MMEHS SHESOHH| tHEH| 2ZACE

27 Adl /220l 13



4
i | @E I-‘l of HHut £ Of0|S &2t Q0|2 SAt
(o]

&= otdl, LHA|= 25 20| U= B

AL GE
i | @ & el ofr = & °|Ef

@ RI20j| U= Rk= LY Zd0|Ct,

@ = Xt ote] 1 27|58 YL

@ Harris M= 1152| FH1} = OF0| S} A,

® WA U= 2Tt 142 42ES HIRACH

02| | garage At laugh at ~2 H|RLC}

2ol 2l
1 (1) AIZEQR) & (3) &4 2 (A) The boy (B) stood up

1 sh& | (1) Wst SM0'2h= Q0|2 A|ZHS LIEHHLTY,
(2) H7I=Hez"2k= Qnj2 tc'!té.*; LHEFHCE,
(3) ‘=2 01202tz 2|0|2 HAES LIEHHCE
sl | (1) Lz st 32t o4gS 4 Ao|Ch
() XgE= R/ E 245 Lt
(3) Kelly= 22 OFS0f| ALt
012 | noodle == chopstick X712t
2 &4 | in the picture= BAL FlOIM BAIE A5 »HE
AI0]12, from the sofaE SAIE $Al6k= FAFO|CH,
SHAT | O3 52| AE0| AMOf|A Q0{GLCH.

pPp- 56~57>

1@ 2@ 3 (1)sometimes clean my room (2) am
never late for school 4 @ 5 (B) she always reads
books (C) Emma hardly studies

1 i | X 252 appless A &= A= BAS| 50|
O HIZ many L£&= some0| S0{Z = U1, & HI &
&9 sugar= A &= 9l= BAIO|EZ BIZH0] a littleO] S0{

7O 2tCY.
SHA | - EXRE {0l R 7HQ] ALt QT
-Lt= X0l 22 2f7te| 40| 25|t
2 G2 | @ late= SAE 2GS BAIZ A0, LHX|=
T5F BAE Aok YEMZE ALY
a4 | @ Cathy= 2| HiS= A0
@ JHE Ol EYAS 1 ULt
@ Lt= E5 YSAMK] THO| AL,
@ A2 0242 ZFHOIUC

14 =3t ¥oixizk BOOK 1

® Y A0|LE= A7H EHHIE T=L.
012] | learner St&X} stay up (REX| ©211) 7HO{ UCt
worm 'Haj|

3 GHd | HIERAR= 7 LEISAL A0l beSAtRL ZSAL F
01| SIXIBHCY,

4 SHE | (A )E 0E B3 d%ot= EOMOI_' @= BAE
A0k YEMO|H, LIHX|= FEAES s4l0k= FALOICY,
i | @ O] HE2 B oL

@ M2 O ofj 2IFO|Lt.
@ OHX|= 2Y I=3H 20| XL,
@ WS MBO0| 1 ~ISHCE,
® 1 ALt
X2 A | Annafif Emma= A4S0 XHOHO|C}, 252 of
BT YHCH DS HO| EZH0| AMZIX|TH n_rg HOj|A CH2
Ct. Annas -3“-‘?'—0|"— 22 E0tst?
Ct. HX|2F Emmas 258E 7
o| ofX| Z=Lt J3= 23S
Z0k8t, = oot 518
Ot & = ULk Anna&t
Emmags CHEX|ZE AO|EH|
Z X|HC,

5 &4 | (B) BI=EAl alwaysS bt

SAt reads 2H0f| AMOF St
Ct. () 2% 0l ‘T2{LF2H= 2|09 However?t Y= A
O HO 9| i1 BHHE|= LHE0| Lt2tof otB 2
hard(Z43])Z hardly(H2| ~ 2ICHZ 1X0F StCt,

21/[ Tab [HE D=t pp. 58-61)

1 got, had, walked 2 (A) know (B) was 3 is
sending, is working, is watching 4 Were, wasn’t
5@ 6 isgoingtogo 7 (1) (A)getting (B) was (2)
| am going to paint this scenel 8 @ 9 (1) Some
(2) any 10 He drives fast on the highway. 11 |
always [often/sometimes] eat vegetables for
dinner. 12@ 13 Q

1 & | 22 AFH0| 24 M2 HHHUCEZE MAAN=
2Lt SAt get, haves =12 HEISHH LAY got,
had0|11 walke 2! SAIE 0| walkedO|LCt,
siA | e B 7AI0 YOIHLE 1= 7A1 30201 OfElS



H=L} = 8A| 30201 S Hat 31| st ZOo{ZHt,
— O{H| F=r= 7AI0l LOIRCE = 7A1 3020 OFEE
ALt = 8A| 30201 O4SA4 SI7H| St i ZO{ZACt,

& | (1) knowes TIHHOE MX| b= SAIO|EE SHIHA|
XNz 13Ict

(2) last year= AHE LIEtLE= BEHH0|EE SAIE IAYH
o= 1Lt

54 | Lz 38 Y0 UCE J= ZHA| LIt Z2 HIO|RACE,
SHA | &K TIF FO1 US LIEHH T "am/are/is+SAH
&-ing, FEHQ| SXHEIM™S 0|8 St

54 | Katez 42| ZIF0IAH EXt HIAIXIE 2L QAL
Jack2 1o LESOE AUZ 511 ULt Sandy= 2|
AOIEEOCR HME H1 UL
oA | DRI O|ZE 1 HE0|E 2 beSALE Mg 5
Al Z20{0F Bt EE0IM= =07t youO|22 wereE 401,
CHEMOIM= 32047} 10| 10 22| CHEO|Z 2 wasn'tE 2Lt
a4 | AT He O S50 E5k JQUL?

B: OfL|. Lk= SX710IM HA| S0IU0.

54 | tomorrows O|2HE LIEtLE= HJH0|22 X B H
ZH0ll= "wil +S AR 0| S01710F BHCY. yesterday= 1A
£ LiEth= B30|E2 F HIf BIZH= SAS| 2AHFO0|
=0{7{0} BtCt,

5l | - 22l= WY Fofl =2k Hof,

-Lt= OfH| L RIS s7E UL

s | "~ oIYoICh 2= o|0|2 O|2HE LIEFE I "be
going to+SAE™E L= 2L},

aH& | (1) (A) ~otd JUACYEk= 2l0je] MUAHTIHZHO| ==
£ getting0| L& (B) UAHTIHHS "was/were+SAt
H8-ing.,2 MOZ was7t L5iCt

X2 a4 | HiZ ZM7 B3 O MSsiX|E LU Nicole
2 OHL|2| 22 H2bHe 2 HO{7t= ZO|ACE 2 LR

.

% SHLEZH LRI BORCE O O3S Y SisE &
ZhHR2HRCE LR HHZE = LS 2L 1H=
7HAIOIA 2B UULE. Nicole2 7He W=t O|AE XU

Ct “OFSLCIR. L= 0| HHS 1= Ao

(2) 0TI FHHOIA D[2HAIMIE 2H== am going to FO|
SAF™EE WA, ‘Li=(1) / 22 710Kam going to paint)
/ O] ZHE(this scene)’| &= HYGESICY,

siE | FO{XI EHES LIFESHH She saw something
strange in the skyO|22 4| HIE Q= LS strange
o|ct.

o | (1) SYZ0IE2 A someO| STt A
Mt some2 F2 IHZ0, $HIEA any= FEZ0IL

O|ZZ0| AQICt,

10

11

12

13

(2) AZ20|E2 E AL any 7t YSITH

aHAl | (1) M 2 0R2|7t Shs2 210 ALt

(2) MX} Qtoj o] & UALIR?

SHA | WEA2H= 2|0|2] £A} fast7t SAL driveE FlOlIAM
A5k 227t EES T=(He) / 2H$tCHdrives) / bt
2XA(fast) / 2EE20X(on the highway)' 2| &9FZ #
Ct. Z0{ He7} 3913 £t4:0|2 2 SAK= drivesZ MOF SHCt
0{2] | highway I&E2

SHE | BIER A= BH X0l= SA
Off k2t YIXI7F 22X, beSAtRt
S, QEESAL 0] MQICH,
aHA | Q: | HOtLE KB MU R JAS
A: L= HRF/718] MY 2 MAE Ho.

siE | @= Foll U= A kindE AISk= BALO[L, Lt
HX|= 2F Fof U= BAE =AI5H= SEA0|C,

X2 oHA] | B 3: Stork £ & ot

(MHHof] HAIS HS0| QUL Stork M= Fox 25 201 U

= TAISO 70| M 2T Hr))

4?

12 g

Ol

Fox M: XK= 0] ST HAIS0| E2 O1E0 S0L.
Stork £QI: {2f2S ?loli M7t ARSS MELIC

Fox 201 A2 MU SR, HE Ol2i22 o S

(Vp]
~+
©)
o ~
4
ro
ook
=
=
o
>
=
D
<
=
1°
0x
1al
=2
d
Fn:
=
2
o
-~

ol

Stork M|: EA| 7|CH{ ML,

(ase 25 Z A2 =0

012] | stork &M plate ™Al bottle & shelf AMtt
taste BtEHLC} delicious QU= wait 7|CH2[Ct

SHA | MRS SEA 2012 2AIE £A0] Fes
g 2= QUCL (E7)2F @2 AU2| HAE Aloh= FEAL R
2 ol1, LMKz 25 HA, A2t 2 LiE= A 9
2 it

X2 5HA1 | Aleksey - BATHE 16A|

- 108 3¢ LZ 97| 302

0

M0 F2ED M= A0 Z0HAM o= RH|M 2=
= AL, f2| YHot= of= B2t = AS 06 Q.
A0k= AVt oh=0fl /= 2= OFBLR X2 t? 2
Of stMQ. XM= S =213 He= A3 0. M= &
ZSHAI0] E HO[0|L. 1120 RATHIOIAN 0| E ZME
EdliQ. M= Z2 A=oloL.

012] | Moscow 2A3HL gather 20|Ct place &A
some day (0]2H2]) ATI7} plan A=/}

0% g
[e]l]

=]
=

2« MM /54101 15



pPp- 62~63>

1@ 2@ 3 strange something — something
strange 4 @ 5 (1) little (2) a few 3) Many 6 @
7 (A) taking (C) to make 8 They are always busy

on Saturdays. / 152 EQ 0| &4t HHEAICY,

K@a T3H4 THE &2t 0

1 &l | @ — gets up @ — learned @ — will watch &
= are going to watch ® — had
34 | @ X|Lk= OfF| 27| #|0]2.5 2HSUCE
2 o2 | @ SINTIHHORE 11 YOHE beSALE 0[&51H
Yes, they are.2 E3l0f StCt,
A | @ A FE= XIF 32 SF5HL AL?
B: S, 112
@ A: L= 1M TVE 210 UqUL?
B: OfL, 12{X| 2201,
@ A: JI0IA| 2Xt HIAXIE 2 AHL?
B: S, 1% 7{0},
@ A: Of0|S2 S22 1k & AL?
® A: Tony= Ctg 30| JEE THE7F?
B: OfH, Z12{X| 4= 7OF.
012] | text message 2t HA|X]
3 GiE | ¥Ak= -thing2E ELi= HBALE FoIM s=Alct
B2, strange somethingS something strangeZ 1!
R MOF BTt
541 | Jenny= 01 £0lM OlsH FU7IE HRACE
4 G| =AH LOIHTHE Q0|7 XAiHAZREZ 2AL |ate
7t &t
<'gilsl A&t 27t XiAAHREZ 2A hard7t

CRHAEA HROE

carefully7} LI},

41 | «Helen2 OFEIOH SAH| O AT,
-ESE= 1 H3IE loi SaI5| HEEIT

o0t AHHABSDZ HAp

‘Kevin2 H2 L[S ZHAEA ARC
ah& | (1) ‘A2l SiCtek= Q0|2 A = Q=
A littleO|LCt,

(2) fZtorek= Q0|2 M 4= U= BAI| 57 A0 2=
22 a fewO|Ct.
(3) 'W20|2k= Q0|2 M 5= U= BAI| 57 A0 2=

0%

AL 0l =

3Lt disease &H

16 s Hoimzt BOOK 1

S | @= HAS LIEHE= 2AF 9IS oHL, LiniKl= 2
= BAIE 4Ol BEA 1S Bt

|
oA | @ 22 2ARt0l| g2 A2 LY AREO|C

@ Ui & A0l A= Zh= L Z20] OfHCY,

@ =0 U= GSY2 12| XS T A0 BT

H & ZFAL.
3141 | (A) 25 20l on Saturdays7H U1 17t 0] beS
At QIOOR SIKIHHO| LUTE (C) B B0 this
Saturday7t YOO 2 D|ZHAIRIZ MOF 51 ¥IZH 20f| be
going0| YODE "to+SAIRIEH.C2 MOF Birt,

X2 314 | XIS EQUIT X

o Z01 ME{OIN 22| 4212 4

TH=Z T
- - ‘b -
Zoin gk 20l e e [ LA
it |
o= _'_OOI‘A 0=
-

Of 2hat HEEA|CY, :LEHA‘I = X
Alo| MAls Qa|SiCt, = Ol = EQU0| ALAE| A2
2 0| S2|RE 2t A=I0|C,

02| | take a cooking class 22| +%g Zsict
community center X|% F01 MIE]

run a restaurant 222 2F5ICt own AHAQ

S | HIZ2AL=E beSAH FO| MOF S22, are F O
alwaysE F7I5t0] 2% CHA| 2Lt

225 L=IL} B2 meE

pp- 64~65>

1 take, 22T tidl= 440tct ZHE[ECH 2 will
not[won't] 3 No, heisn't. 4 ® 5 (1) came (2
took (3) did (4) had 6 (1) water (2) something (3)
sold out (4) | heard a strange sound 7 ® 8|
need something exciting. 9 @ 10 (1) | always
enjoy challenges. (2) Mom is often busy on
weekends.

S | BHEEE U2 SIXHAIMIZ LIEHHERE takeZt PSCE,
012] | take place 7HZ|=|Ct

a2 | will2 0|88t D|2HAIN| 20|22, BHES "will
not [won'tH+SAHYS O 2 AOf SiT}.



5HA] | Li= HICHOIM ~B S g A0|Ch — L= HITHOIAM 2~
HS ofX| = 0|t

oid | A20| XTIl olF20| 0 I8 £ AH0| TRt =
1 YA2LE beSAIE 018510] 2| IHES MOF SHCY,
OIZE2| 017} the boy0|2 &, F0{E heZ 5t0{ No, he

isn't.2 2L}
SHA | Qi I AEL T|EHE X1 JLR?
A: OIL|Q, TI=IX| Q0L
S | ®= "be going to+SAHEE Q| HEHE O|2HE LIE
W1, LIHX[= 25 "TbeSAHSAIE™E-ing, FE{2| TS
O|ct.

5HA4 | @ Harrye B2 41 UL
@ Jim2 EXIE 411 UL,
@ OFHX|= 12| AFRA0IN U5t AAC
@ SHE2 ME 0[0F7|5HL QALY
® L= TSR OXIE HE Z0|Ct
02| | pajamas &2 magazine &X| office AFRA!
S | AANE SAtS AP E LIEEHHERE, 0T 2
9| EAt comes, takes, does, hasS 2zt BAHEOI
came, took, did, had 2 HHY MOF St
siA | A2ke HE 5A1Z0] Fofl 2Lt JEE 54| 3020
AFYE SHL 6Al0fl SHIE SHCH J2{1 LN JE= 7A100
X9g YD — ofF| A2k= 5A1Z0] Eof| Ch JEH=5
Al 3020l AFYE &1 6A|0f| SHIE HCH T2 LiA 11
= 7A0fl M= HAUCH
& | (1) some2 STHEALE HAL waterE AT
(2) attractive= HEAIZ CHHAL something= FlOIA 2=
AlSITE
(3) quickly= £AZ SAt sold outS $AISHCE
(4) suddenly= BALZ 2% HHSE $AISHCL
M| (1) E & E2ne?
(2) O] J—0ll= F217} DRI Z40] ULH.
3
4

)
) su

-"U\_Q

) B= & MO|EO||A 2 A DHEIZ|RACE,

) LRE7| Lh= 0|45t A2|E SQUCL.
012] | attractive I1ZEQ! sell out O§ZI%|CH suddenly
Ux|
aHH | ®2 fresh= Floil Y= TA vegetablesE 415t
= S8A0|1, U= 2% F0{E HE HHok= H8A
olct.
aiA | @ Lb= B{7F 2k,
@ OFHX|= SIA HOJILt,
@ 0] 252 2 HAIt HTh
@ 4= oflEe 1 RIESICL,

P2l LS OFRNZE 23 TSI

012] | fresh AMSt

514 | CHEAL something2 AL FOA f=Al5t0 2
something F|0i| exciting= MOf ST},

012] | exciting AlLt=

54 | @ — finally @ — hardly @ — high ® — hard
i | @ 50| 72| H|0f ALt

02| | empty HIO| Q= fly HLt (—flew—flown)

10 sHE | BI=EAE M0 M2t always(8H4), usually(2

E), often(EZ), sometimes(HHZ), never(Z3 ~4LCt)
SOl UL B O = beSAtR ZSAL FOH|, LHISAH A0)|
SIRISLCY,

a4 (1) L= EXE &71C

— L= g =NE S710L

(2) Y0h= F=Z0i| HHEAICE,

— QU0k= 20| SZ HHEEA|CE '!l
02| | challenge =H

pPp. 66~69>

A 1 Sophia and Chris are watching a movie
together. 2 Mr. Smith was not[wasn’t] drinking
coffee at that time. 3 Is Lucas dancing to the

music on the stage now? B1 No,I'mnot 2 Yes,
lam 3 Yes, I will 4 No,lwon’t C1 expensive
2 carefully 3 sweet 4 well D1 often, in the

classroom 2 sometimes, in the kitchen 3 never,

in the living room 4 always, in the bathroom

A1 SiE | FO7F S22 I FMTAH2 Tare+SAHA

&-ing.0|E&Z Sophia and Chris are watching ~2
2 HHY 2L,

liA] | Sophia®t Chris= & Y28 2Lt — Sophia
ot Chris= SH Fate 211 Ct,

2 oiE | FOI B o HAZIMHES 2HE
"wasn t+SAIEE -ing 0|22 Mr. Smith wa
not [wasn’t] drinking ~O2 H}Y 2L},
i1 | Smith M= IS OFAIX] =Lt — Smith M=
1 FAOf| AHLIE ORA LT RUX| LATH.

3 i | FO7L EHQ SHXHTIHYL| AZ 22 MIs+F0+S

AF#&-ing ~?,0|2£ |s Lucas dancing ~ now?Z H}

ro

wv

2% Al /220l 17



B1

c1

D1

18

B 2L

S | Lucas= SO {l0IA S0l &3 &S =Lt —

Lucase X3 O YoM S0 XH FS

LtR?

54 | 3047} 10|H, be going toZ 0|25t 2220 I

§t 2X9| LHEHO0|Z 2 No, I'm not.O|C},

A | L= LY HAES Bt stulof 2 AL|?

— OfL|OF, L= RPN AHE Bt St ol Z 7{0F,

54 | 3047} 10|H, be going toZ 0|25t 2220 I
289| IH0|=22 Yes, | am.O|C},

s | L= EME0IN S HL?

-3, 18 7oL,

sl | 3017} 10|, will2 0|8t 22201 st 32|

CHEOIZ 2 Yes, | will.O|CH.

s | U= Y 575 & HU?

-3, 18 7oL,

i | 3017} 10|, will2 0|8t 2/Z 201 st 22|

CHEfO|Z 2 No, | won’t.0|C,

54 | e MY R TXE HE HU?

— OfL|OF, A}HHS HZ HOL

541 | 201 This carE B3 MH5H= HO0{0|Z 2 A}

expensiveZt LT},

5141 | O] XkSXh= HIMICY,

s | ‘RAAEA'ER= Q0|2 SAt drivesE

Bl carefully 7+ LSECE

5l | 22| Otithz ZAABA| 2HGHILCE,

i | "EEs0l2ts QOE FHo A=z JA

strawberriesE $4Ioh= Y&A sweet7t LS,

5liA1 | o] NE2 HE 8 E7|0]CY,

sie | “&0l2k= 2|0|2 SAt bakesE +AI5k= £At

wellO] YBiCt,

et

At

42 =
S | YU 4Y WAOIM FOE SESIEE, often
Itin the classroom2 O[&SICt,
541 | Brian2 &3 WA B0IE 2SIt
SHE | YFYUO 2Y FHON HEHK]
sometimes®} in the kitchen2 0|28},
A | Brian2 715 0| AAHXIE SiCt
S | Y=Y SOt St HAWA TVE BX| §ieBZ2,
never2tin the living rooms 0|&SIT}.
541 | Brian2 Xa{ HA0|M TVE EX| eh=Ct
S | DY 2AHM AFKE SIEZ, always?t in the
bathroom2 0|&5!Ct,
541 | Brian2 &4 SH0IM ARIE

ron

.

LIOS]. LIZISE. pp. 72~75

1 (1) Sumin was not[wasn’t] happy with his
present. / =210|= 12| MZ0| OR30f| SX| LULCE (2) Is
your brother a high school student? / 42| &2 15
shoIL? 2 (1) @, YRSt EYE0|22, doesn’t
Foll= SAFHRE Mof Bk (2) B, YErESAte| olZ=0|
82, 30{ Fol= SAFEES Mok ettt 3 (1) had to (2)
don’t have to (3) can’t 4 (1) Will you give me a
hand? (2) She may not come to the party. 5 (1)
are doing your homework / Are you doing your
homework? (2) was coming across the street / She
was not coming across the street. (3) were playing
baseball last weekend / Were they playing baseball
last weekend? 6 (1) I will (2) Are you going (3) Will

you 7 (1) well, Z (2) heavy, MiZHA5 22] (3)
nearly, 72| 8 (1) some, HRok= E&0|22 someS

MOF ST, (2) something mysterious, &A= -thing
oz Ell= HHAE FolM A8t (3) should
always, HI=RAL= ZSALF{0l] 210F SIT

1

(sample) & | 017t =421 They0|S2, beSAf= are
= IO} B

(1) 312 | beSAS] 2HRS rX0f+beSAtnot ~,| &
EfoIC

(2) 3112 | beSARe] OEE TheSAHR0] ~2,2| SEHOICH,
(sample) 3fi4 | 2 A2 0 @ e N
© =0] HCt, 7R Ay

(1) 8141 | Martin2 OIF 22 = . ‘=i
S JR|T SX| =L, '
(2) 8l | L= gof 2ol g ©

-

RHL?
012 | improve SAIZ|CH skill &=

(sample) a4 | ~EIX|E PECF2H= o|O|2 st T2
LIEHHE ZSAHE mayO|Lt,

(1) 84 | *~oHoF JHCH2k= QJ0|2 172 O|RS LIEHH If
had toE £2Ct,

(2) 5h4 | ~& =WQt QiCrat= ooz 2LQ
don’t have toS £L},

012] | match &7, A&

(3) 8141 |~ 2|7} QUCrEt= oln|2 LSt Y| =2 LY
Efd I can'tE £ == QUL

(sample) 541 | ZEA} S0l SAHY
causes= 2|3t LIHX|S HHE ST,

LtEHE [

]

40| QJ0F 5O

oQh



01| | side effect 222 cause ~2 Lo7|Ct

(1) e | ZSA2| Y ZE2 "ZSAHTOH+SAIEY ~?7.9
SHE0|E 2, do= ER giCt.

012] | give a hand &Ct

(2) s | ZSAIL RHE2 'F0{+ESAHNOot+SAIEH
~ 0|22 doese ZREICH

(sample) 314 | amI} waiting0| AT Z SHXHTISHS 2
2 WA £ F, am FHol| not2 F7i6t0 EYES 24y

oo

1| Lk 22 7|02]T QIch — Lis 12 7|0l QI

ob o P.

2 = o
rum*

! | are®t doing0| Y02 ST BHS TX
, Are you doing ~?2| &EIZ Q|EE
H = IHIE ol ATt — L= HME Sh_ QULI?

2) 54 | was®2t coming0| Y22 ut7

% 0%

dq

ol r|-0 - Elg ol FP,E

d

o
02
od 3
o
>
o

—

HX £ 7, was Fl0l not2 71510 EEES 2SIt
51 | 2l 22 LT Aot — s 28 e
10 UX| QAUTH
(3) 3l | were2t playing0| J2B2 TS BHS
HX £ F, Were they playing ~?2| E|Z QEES &
et
s | OS2 K| 0| O E St UULE — IS2 K|
H 20| OFE St URALL?

Hj

(sample) a2 | 217t F 0] "to+SAFR0| Y2, 04
I2tam going2 0|85t 2&2 2tdgict.

SHA | AT s A0 Z 0I-OoIL?

B: OfL|, I&X| 20}, L= MIS-20i| Z 0i°'H0]OF.

(1) sH& | HIZE FO] SAFEHO| J2B=, 01 12 willS
0|26} 22 2SI

a4 | AT e JHE HA HIFHA 2 AL?

B: OfLIOF, Lt= ZIXIH0IA 14 E 2H 74OF,

(2) & | HIZF FOl| "to+SAI¥E,0] YCEZ Are you
going= F7I510] 2|22 S 2Hdeitt.

a4 | AT HeE WY SOE S8 0I-oIL?

B: &, 1& 0fI=0|0F.

(3) 8HA | BIZt E0f| SAFNHO| Y222 Will youS F7}
Sl0 QIZ 2 S 2B

SHA | AT e Ul MyE A AL?

B: &, 13 7oL,

(sample) sH& | ‘AFFAR R EAZ|2H= Q0|2 HEAt
lovelyZt BAt voiceE $=AI5H01 LY,

(1) a4 | Ai@s & Hrt2kz Q0|2 2AL wellO] SAtdo
£ Aot QLY.

(2) 54 | ‘MIEF B|2t= 2|0|2 HEAt heavyZt HAl raing

(3) s | A2l H|0] QUCh= 2J0|2 A} nearly?t AL
emptyE 4500 UL,
(sample) a4 | Li= 0 &8t MEI7t 23 TS|,
(1) 3h4 | AE & EAIR?

(2) 3h4 | 2= AHIZ2 SA710] 26K 0]0F7 4L

(3) 34 | U= 24 0122 EFO|OIE XI0j| F0{0F SHCY.

)

S
HS W& HE | O

1® 2® 3@ 4@ 5@ 6@ 70 80
9 No, they aren’t 10 (1) Yes, they do (2) she

pp. 76~79

doesn’t, takes a pottery class 11 (1) Peter does

not [doesn’t] study biology every day. (2) Does
Peter study biology every day? 12 rides — ride
13 (1) can (2) must (3) will 14 doesn’t have to

attend 15 (A) was (B) play 16 | wasn't able to

play it before. 17 Do you know the “I Spy” game?
18 (B) must (C) should

54 | @2 F0{ Grace and Murphy= 40|22 izt
Ol areZt E0{7t11, LIHX| 2&2| F0{= 25 321E H40]
B2 is7t S0{Zict,
ai4 | @ Z0| ZF3tal 0|IHCY.
@ JH= 24 CIX0|H0|Lt,
@ 0|R2 FL12| O F=ARULI7IN?
@ Grace®} Murphy= D10l UX| 9Lt
® HYE == W2l 4ZFO|Ct

012 | path Z wet £&8t slippery O|I1212 jewelry
HXM cafeteria OH™ four-leaf clover HIYEEH
symbol &% good luck &2
i | beSAS] FEE2 "F0{+beSAHnot ~..0|11, °|F
T2 "bedAHF0 ~?,0[Ct, F0{7} 321 H=Y I bes
At MHH2 wasE L1,
i+ | 2 BIANE2 OFF A2l&t Z20ke] MZ710]CH.
@ YA 2 O1S al2lst 20k TZE 77 OFLI ALY,

012l | expert 27} psychology 2|3t
i | Carl] OFEl YMHE LIEHH= 20ICt 30f He[he]7t
3013 H0|2 2 AHISAIS] HIHHS TSAEE+-(e)s.2

olea| 7 1Q



MOF ST, M2EtA BIZtolli= 242 walks2t prepares?Zt &
Lt

X2 A | Carl2 OFEol Ul AOIHTE J= 28 540
ZOIX|E AFHAIZICE 210 LIAM O= Kol TAEE &
HIStCt,

01zl | walk a dog 7HE AHHA[Z|C}

i | "Did+F0+SAIEYE ~?7,2 UHSAL HAHYQ| o2
20|22, Yes, F0{+did., = "No, F0{+didn't..2 Eal
OfF St EE2| 017} youO|22 |2 EHOf 5t HIZHF
ol HEL2= Hot 22| tHEHR! @7+ LTt

54 | Ar HE K| =20 Den
1 Z20i| 4R1L, Sandy?

B: OfL, J&X| 90t L= O
Ol AU,

02| | aquarium $==2
52 | @ will not2 ~6tX| 242 Z0|CtEk= O]242| 2|0|o]
I won't2 E0 £ 5= QL.

@ ~alioF gHtek= 20| o|F - S11 S LiEt= &3
Ak= must/have to/shouldO|Ct,

@ ~off FAIRL?Y' 2 QOIE QYS LIEHH [ ZSAt
can/will S £2L}.

@ ~of| Eggictel= 20|z &gt £52 LE = &8
AH= mustO|LCE,

® ~& WUt giChet= Q|2 SUQE LIEH [ don't
have toE L},

012l | clearly =33|, EE8{EHE} hold ETt plant 3 in
operation 7t& £¢! passport ®{H

si4 | @ mays — may / ZSAt= FO{0f| 2t HERT7} HE
HX| =Lt

© prevents — prevent / ZSA} Fl0fl= SAFE0| 2Lt
@ not may — may not / ZEAIS| EMSHS ZEAL F O
notS £2Lt,

54 | ® M7t 1 MIgkS 2ORS0{0F ete?

©® L= S ¥ W2t o,

01| | give (someone) a hand (~0H) =83 FCt
accept a proposal H2tS HOLSO0ICt sunscreen Xt2)
M XA in a good mood 7[20| £2 set the alarm
LS HFO

514 | (271)2] may2t D2| can ~ali= EMNQ7EH=
0|2 3715 LIEHHL, LIHX] 282 can2 25 ~& =
CHet= o0|2 53 - 7ksS LIEHHC,

ahA | <E71) ®M7F 7 XI2[0f ot 27t ?

@ A7t O] X|OtS 0] Bt ENQ?

@ U 22 52+ A2

90 ZstHoirzt BOOK 1

10

1

12

13

®@ I=0| =02

@ =5=52 3 Telitt

® L= 0] £M7|E & &= ULt

02| | try on 210{ 2L} polar bear 8=& riddle 27|
s | @2 ~aljof SiCtElk= 2|0|= 2|F - RS LIEHHLE
54 | @ RE|of|A T2 7|3l Sig k| B 2Lt

@ James= 25 1142t 874 F3E K| HX|x REL,
@ U= BHEA| XA &S 2FE0HOF SHY.

@ J32 = 0| SEiCt

® 11 AF2 AHRO| Or 20| SRIGICE

013 | defective product 2= rumor A2

S | TbeSAHFO| ~?, HEH2| OIZE2 "Yes, TO0+beS
Ay EE= "No, F0tbe&AHnot. .22 HSICt F0 the
ingredients?} 50|12, F|0f] A/EH0f| QICH= 20| 0|0{X |2
2 20| il No, they aren’t.2 MWOF St}

A | Ar XS0 S0 AUL?

B: OFL|OF. JXS2 AEH (04| 04,

0i2] | ingredient XiZ fridge W&

Sl | UHLSAL SHIHFC| A|Z20] Ciet CHEE Yes, 301
+do[does].; == "No, F0{+don’t [doesn’t].2 Tt F
071 3013 - [ UHESAL| SIS "SALRE+-(e)s.,
o|ct.

541 | (1) A: Jake®t Emmas 34 AMS E061LIQ?

B: Ul, 0L,

(2) A: Emmae ¢17| 12 ELIR?

B: 0L, JHX| 20t Jli= 0| £S S0{Q.
012 | fantasy novel & A4 acting &17| pottery =0
S | 0 Peter?} 3013 H0|BE, EHE2 "F
+does not[doesn tHSAIEY ~ ., 2/EE2 "Does+30{
+SAFEE ~7,2| HEHZ MO} BTt

541 | Peter= Y M=sHS ST,

(1) Peter= OHY A4
(2) Peter= OHY At
02| | biology =3

S | ZSAL Floll= SAFEO0] 240F SIEE ridesE ride
2 11X MO SiTt,

i | Olivias E2TAEE & 2= QUL

0{2] | ride a roller coaster EHTAEIS EICt

sl | (1) WilliamO| 20| MM 2AHZ2 Eg ‘§2 = UCtEt
= 20|17t KtHAZLEZ can0| 2L0F ST,

(2) QMM E ‘THOf SHCF2b= 207t RAIHARRE R ZFA
must7Zt 2f0f STt

(3) o 20| ZREZHHS UFS A0|CH2k= Q|0|7F X}
HABOE XEAwill0] QO B},

[

o



14

15

16

17

18

ULt
(2) R2l= Aol|Af QHHIE OHOF SHCY,

(3) 2| 7I52 0|H Fohof| THEY 3 BERSE ZH0|Ct
02| | carry £7ICt seat belt 2|

s | ~g eIt gitteh= 202 S ERE LIEHE o
"don’t [doesn’t] have to+SAMXES S 0|26iCt,

54 | (A) 3047t sheO|1 20| LHOH| AU LS LIEFHH
O beSA2] AHE wasZ Mof StCt, (B) be able to F
Ol= SAFHO0| 20f SIEE playS MO ST,

X2 oiA] | 74 H Louise= Y22 CHMA S22 BIUCH
T2 = Heol eeh UAULCE o= F S QA7 1
£ B ATt T AE B M, 1137} QJAMOIA SRUACH.
‘M7t LISl Dol & 5 USTMR? 82, & & UKL
Je{L 4T 0| AHSIX| LAt "2t A= CHESHIC
“SHXIZF O] A5, "2t LouiseZt LHLE “M= GIM0l=
Jus H s+ AHER

02| | surgery =

54 | Z=OIRI E30| wasn't, able, to7h 11, ~&t 4= AR
CHet= oloje] £H&E0| E|0{0F ot2 2, "F0{(I)+wasn’t
able to+SAt™>(play) ~.,& =92 HSSITY,

s | LEtSAHknow)2| 2lEE2 "Do[Does]/Did+30{
+SAIEE ~?,OF IWOf ol2 =, AreE Do= 11 X0f SiCt,
X2 HA | ZA12 1 Spy't= AIYE 0k=71? J242 of
0|Z ALOJOIIN T4 Q17| U= AIO|CE, ESH D2 St7 (o]
I ZHSt AIJOICE Of7| AIUS oh= B0l QUL St At
0| 5t OIS MEISICE 11 THol= FAI0] Bt & 5
U= O Z42| 0|S20[0{0F StCE, 11 ARO[ ‘cup’S SHLE
1 off 2Xt O M2 “Li= CE AI&Sh=E o™ A4S W &2
TR FESILCL 2 2
St 2™ CHE ARYES0|
ZFQE S22 1 HHo{7t

SQIX| ZE50F BT B

r

012 | spy ME[ALO|] #52 SICH popular 217] Y=
among ~ AfO|0fl how to ~6H= B choose MEHSICY
beginning with ~22 A|Xl6k= look around E2{E Lt
guess F&3IL}

sl | (B) ‘01 24| 0|50]0{0F SHCFEk= 20|17} KA
SFEE must?t YT (C) F/UE S2E D FF5HO0F S
2t= 2j0)7t XIAARRLEZE should 7 LTt

Ry
[ mz oz E 0

pp. 80~83

1@ 2@ 36 4@ 50 6G 7@ 8Q
9® 10 @, ® 111 wasn’t, was sleeping
12 preparing, is going to 13 (A) easily (B) high
14 (1) Liam often rides a bike. (2) Liam is never late

for class. (3) Liam usually has dinner at home. 15 |
am enjoying the summer vacation with my parents

now. 16 R2|l= 2=0) OZES Y= oFO|C.

17 @, many — much 18 They are cooking

something delicious in the kitchen.

a2 | next Monday:= DI24E UEL= B3H0|22 X
uf 20| BIZH= Twill+SAFES 2| D[HAIK|7H LS,
yesterday morning2 ItHE LEILE Eoi0|22 &
T 17t FEALE+-(e)d, ZEHO] arrived 7+ ZLCL,

oA | - = TEF E2Y 27T 1040 E2l= gF 2120

- &8 A= OfH| OF SAH| ARHLY.

ttend &ASICH arrive =AISHTE

aH& | =047} H0| 10, SKHE Lt

Etth= B3Ol now?t ooz o4
ST R (carries)Lt SIRHTISYS i
(is carrying)0| S0{7}0f SICt, N e

sl | O EXt= X AXE L2 B
LA

S | Twill+SAHEE 2 "be going to+SAIEE.C 2 Ht
M2+ Atk

541 | Ted= Z&O2 LIS O|2]2{ & Z0|C},

@ Ted= ZEOE LIE H|2]2] LTt

@ Ted= SR LIE Hl2[2 SX|= Z2LL,

2
Jon
&

@ Ted= ZEOZ LIZ G|2]2] 2L0f Bt
@ Ted= SO Z LIS HI2|2] 21 AUCE

® Ted= 202 LIZ H|2|8 & Z0|Ct

012! | pick up ~2 (xtoll) EF2] 7tCt

e | @ FO{7t 24£0|1, BHE UEHE= SAL
yesterdayZt JALE 2 MAHTIHAS wereE 0|Z3HA M
Of StCt.

sie | @ Mg LHX|= 0]2HE LEHE= "be going
to+SAHHAE 011, @= "beSAHSAIEA-ing, JEHS| A
THEI4HO0|Ct,

=
@1 A= YYEC02 TR AFLIC

© I= LESS AX| 4= AOIC,

oa| 72t Q1



10

1"

12 siid | Acks &

@ JHs ARE H
® U= 07|10l HRE
02| | go out (2AC|R - Hz{H|H T2 7340]) LS E|CH
package AX 20|

5l | BAL storyE $AIGk= XI2Z|0|22 FEAZ} 2f0F &t

Z10]ct,
AL

O, SAt sadly(ETH)= BAS 418 4 @it
541 | L= 25 i B2[R7/S0I22/FME] 00k

SHAC

& | SAk should useE AISH= 2APL 240F stE2
carefully7} 22Tt HAt hardly(72] ~ CH= 2J0j4 of
22X 241 lovely(AHEARR), friendly(RI28H),
difficult(0{2{2)= JEAL0|LCH.

54 | @ U= 22 RAS| AR8SHOF STt

3 | @ -one= ElLt= BARE FEAZ} FOIM =215t
B2 someone popular2 I X0} ST},

34 | @ Rel= M2E 7| YX| =6t

@ 152 O ST TS 7KL UL,

@ 1 AHE2 H2|E tHhEAH ZAC

® mEMe sk= 0| 211 UL,

012| | popular 217| A=

She | +HAEA some2 SYEL HFEM 20|12, any
= BE2 0 Q220 ALY,

a4 | @ W o S5 HIO| AL?

©® At F=A F EAZR?

© OtZoll LI27+ 2 2 L
@ Hi=IL{Of OfH S °*'1f
© L= T stuof| Cho = 8 2 :
02| | tip HIH, =21 yard Ot basket HiFEL|

i [ (27)et @, @2 HE 2 BE2 FO0E 25 HYst
= YEA0| 1, LIHX|= SALE =AI5k= SAO|LH.
sl | (27]) 11 Fah= ESICL
@ 4= thEH LS| =Lt
@ 11 gxh= LS 2IESH =okFA0t
@ ==dl= 01 =0| & 2= Urh
@ Y7t 1 EMAE UL OFF
® H20ll= SM7t S0 XS

Ofj 2 CH

02| | kindly ZIZ5tH eagle E42| dry Z4x5t
S | AT Q222 MO £ AF0| 2 S0
B 2US 210 JACOE beSAIE 018510 22| LIES &
d5tal, MNZE 5t @ ':d LS WAHTIHHCZ 0[0F7|5h=
20| R HAZLY,

541 | A: L= of3IEh 11 4]0l S8 S0|AL?
B: OtL|, 1ZX| 0}, Li= 10 ZICHOIIA Xk QUQAOH.

HHQIS ZHISHL UL, M7t A2t

99 =5 Ho{xizk BOOK 1

13

14

15

16

17

Tof IAKE DHEZICH D SHCE M2t X HI 2IZE2 Tbe
SAHSAIEY-ing 2| MRS Z, = I 2172
going to+SAr 2| O|2{A|MI= AOF STt

SHA | MS: RS S UL, A2H0F?

At L= 2t Anels ZH|st
MS: @, CHEkSH! LH7F =8 740
A2k S20|X. He XA 1%
MZ: 2. L7t ZAHE
k= 2 AHRIS ’._‘HIOh_
O|Ct, &= EAEHE 0= Zi0]|LC},
012l | prepare ZH|SICt environmental €
campaign ZiH2l, 2& poster ZAE, HE

s | (A)oll= SAt solvedE $Alok= FAL 2{0F ot22
easily2 MOF BICt (B)= BAIE 4I5k= &AL A12]0]2
2 highS IO &0t

gy

0
0
o3

I-_I

= o
o

mo o
3 2

g

0o

HI|I'| HJ||'|
i
£9
r

~

rl:l rl:l

Ct. A1I§E JUE = A

?9

740|

i | 220l 2= +3t AlRlS BT A2 #I%Ch 121
M OdE Z2HE 2 UL =2 S LU

012 | solve Lt score &%
SHA | HIEEAN= QUK O 2 heSAIR} ZEA} F{0f], Y
Ab 0] £2CF

5l | (1) Liam2 XPHAE B} — Liam2 33 AHAE
EfCt

(2) Liam2 0l ==Lt — Liam2 $0f| 2o =X| &
(3) L|am° oM MEE HELL — Liam2 28 oM
XM4ES HeC

si& | ‘Kig ~ot1l ACtek= 2|0j0|22 HRHXIS#S 0
Sto] ‘Li=(1) / £7122 UCHam enjoying) / G &7+
(the summer vacation) / 22&2 &H(with my
parents) / X|Z2(now) 2| =22 FXISIT},
X2 oM | Lhs XIZ B2E 87 68 §718 &711
ct. °EI= OfA| m2|of RACt R2l= TS SO HEFIC
= o= Q0| REE 8IS0 UCH FEHE HESH2
MAIA Z7HE 2 BFEE0|CH of 35,0008 2] TSt o=
ZF0| UL}, R2l= ¥ Tt :

i ofo

=
= O7IM E7=2 Al
S = 20|t
01%] | traditional MS2|, MEX{QI

3t | be going to+EAIRIE 2 D|2HE LEHHT, ~& of
HO|CY 2 SHAISHT,

514 | @ homework7t A 4=

oH=
HA:

HAOIEZ, manyE



much2 10X{0f SiC},

X2 a4 | Mikez ZH2 EOIM 12| Rt S| AtCt
79| OftX= E8% QE|AO|T}, 19| MU E 225 &
SRACE 52 FH0IM F17t Siil= AS 225k Tt
Mike= X3 XHtl2] oM SHIE ot Ut = 25 =
H7H 42 o}, SRS J= 2E AS e En J9l 8

DU I HES 52 20l

18 5l | -thing2E ElLt= YA HEAZL FOIM 415
82 ‘JE2(They) / 22I5t1 UCHare cooking) / 71
7} SIUE= ZS(something delicious) / F20|A(in the
kitchen)'2| =9 2 H{E ST},

- Co

ojwel &z 93



81 | 1 OF: AHS0| LIR7HR] U0l Lo,
srie)
2 Oftt: B OFS, L ZIT0A ZOFKIS Hof RHEtTY,

A=9| Leef= Of

OFS: 4T HO{YL. K= ZOtX|E HIZ2t1 0|F X2 Ao,
a. Sam2| ZI7E= SamOf|A| HIZE FCt,

b. Sam2 12| TIFL0|A| HIZE ULt

3 01 j_ ;-"0'5_ I‘ll:”‘ DI-OlO-I EO:I' 3_74 QH Df% O-I’?

2 b. HOR| 4AI0|F0L, LTI LHA| ZSHEX] OF,

a. Li7L A[0|3.& 2SR

4 Ol=: M= ==t *f%@ I HH0L.

Ad0f £ 42 X0t EX| 247| 20| LT 0| HX| ZO}OF .

PN
ﬂJ THed S0 22O

1 Quiz 814 | (1) T SAIZ O|R0F 184 2
xro|q
(2) 01, SAL 7 HO|Z 0|20{ZI 2&A] 2X0|C},
afisl | (1) 2 ot7l= 2Lt
(2) 222 £2 M7t HLL

12| | smell 'HARZ} LIC}

pp. 8~11

N

2 Quiz sHE | (1) 0, SAL SHOZ 0|R0{T 39

(2) 01, SAL ZHESHO|, ZIHSX0Z 0|R0{T 434 2F
0lLCt.

HHI(NMUH=RS 2 :
(2) 2= LtoflA O|H| S 2Tt

3 Quiz sHE | F0, SAL SH0, S84 20{= 0|7

584 2E0|ct
| 2a)=

—_
|

29 9

don g% oA

RElE 1HE M2t #E0

genius ZXy

1-2 =0{, =20 Hof, si=s) 2-2 ZHH=H0| XM=

Of, LIolA HHAHE  3-2 X0, S5Z 204, 11 20| 04
=

94 =5t Ho{xizk BOOK 2

e | "FO+SAHFZ HO, JEjQ| 24 2HCE,
(FF0f)= ~OICt/~SILy 2 st H0j(happy)=s
(He)E 2 43I

2-2 #4 | TFOMHBAHTFHS MO ETS O, HEO| 43
A 25OR (FO|)= ~0fH 2 ~BICFE SHAIBICE

3-2 #4 | TFOHSAHSHONEIZ Hof, HElS| 53 2
HOR, (FO)= ~& 2T/ 51| ~5ICI R BHATICE

4 Quiz & | (1) "BeSAHZO ~?, HE{Q| O|ERE
O|ct.
(2) "THow+HEAHF0+SAH, HEHS| ZEHZO|CY,
(3) SAIHYCE A|Zfot= BHEOICL,
A | (1) 24 MAEoIL]?
() 2= ™Y 7|17t I7LH
(3) TVE .

5 Quiz ¥ | & 742 SAtTE smells bad2} tastes
goodO| STEAL but2 2 HZE|0] QLY.
SHAT | O] It HARZL T 2FSHK|2F BHO| ELT

6 Quiz 14 | (1) ~2tT'2l 0|Z LIEHHEZ YA
M2 0|11= H& AL that0] YHLCY,
(2) ~017| W2o'2k= 20|12 0|
TBAL becauseZt YT

£ LIEt= BARES 0|11=

4-2 (1) Be quiet in the classroom. (2) How brave
you are! (3) Do they live in this town? 5-2 so, L=
2 Oj=shA  6-2 Because, 5tF S H|7t 20| LIRIT|
mZofl

| (1) F0{7t Y2EZ, SAFEH(Be)2Z AlRGh=
EOE £L.

»
E
=5
o
2) HowBBAHE0}- A, dffel YeigoR 2,
3
A
M

~— 9
o
+
_l
2
*+h
_>,:
E

2
.:’
i
_°
1o
du
o
3
n]

5-2 oi | ‘@elnt ZAure| ojn|=, = JHe
UTSAL so7t HRSICY,
02| | go to bed RXt2|0fl SCt

6-2 i | '~0]7| IHZ0I'2h= 20|12 BAES 0|= 345Y
Z£At BecauseZt Y%L},
012 | all day 52 S go on a picnic 22 7iCt



pPp.- 12~19

1 (1) 04: Oliver and Lucy, Oliver2} Lucy= 0|4 X
RALE (2) F04: They, 4 E0{: my neighbors, 152
Lte| O|RE0ICt. 2 (1) the piano, Brian2 L|Ol=E Z
2= Ut (2) me, new shoes, 0k= LIOIA| A AES A}
ZANLCH 3 (1) 2X0{: the movie, 2XZA H0{:
interesting, L= 1 A3t MO|QUCH= 2 LA =UCE
(2) =X01: her son, =52 E04{: Noah, Maria= AH:I2]
OlS2 Noahzl 0§ XIICt. 4 (1) O] 2Xk= HE
CSHALH (2) b= W HEMHSE & QL2 5 (1) L=
O| FHIX|LL M X|OHE & AOIC. (2) Lh= HiZH IIhA A
ol U= 2= WS HAUCE 6 (1) = Kevin0| &3

fl

A2t Y=Ch (2) O "Aks a7t dEE BEURE W =Y
o

(2) TheyZt 01, my neighbors7t 2 E0{21 2§84 2

2 GHA | (1) 2X0{7} the piano SHLIQ! 384l 2Xf0|Ct,
(2) X7t 7121 484 EHO 2 mes 7HESX0{0| 1,
new shoes= AESX0{0|C},

3 &4 | (1) 2X4 20 interesting0| 2X0{ the movieS

23 AE5h= 534 ZHO|CL,

(2) 2524 20{ Noah7} 2X0f her song 2 MH5H=
584 2H0|Ct.

4 SHE | (1) "THow+HEA/EAH+F01+S AL, eS| ZHELE
O|Ct ZEES HLU ~SALH2E SHAISHTY,
(2) "Do+F0{+SAtAE ~?7, HELQ| 2|2 F0|C}, SRR ~
O|L|/~otL|?7' 2 SHAISITY,

5 alid | (1) S|A™SAors E=2] Q0|2 HOf, 7, S ¢
74%[-[_'-

(2) SHEEAL so= 1A Q| Q0|2 F 7HS| HS el
6 aHE | (1) EEA that° ~2h= A/~2tare] Qn|Z A

(2) E&At when2 ~& Q] Q0|2 2ARES 0L

-

1

@ T HIS 2O

HEF] (maom |

s | (1) 0 XI2|0|22, 4 QURCHHAL She 7| LIELCY,

(2) SME LIEHE 2E2| 301 X}2(|0|22 H|QIE F0 1t0] &
St

(3) 0] a catO| £t HAIO|DZ js7t QT

(@) livee 184 SAIO|EZ, Fo| FAE LIEHNE MXIAIL
O|X{X[=S inO| &7 2f0f SICL,

i | (1) 2= SUCt

) HE|M MS0| SEUCH.

3) AL} (0] 2F0|7t St Of2| QAL

) Lte| ZERHE2 22| SH|0)| 10 ALICE,

pp- 14~17>

V]
3
4

201 ZHl

1 (1)1 (2) are (3) walks to school 2 It snowed a lot
last winter.

1 ah& | (1) 30 X2|0|2=, 2 QIRIHEAL 17} H0F SHCE,
(2) 0] a lot of peopled| 50|22 isE areE X0}
Stk

(3) walk= 184 SMOIEE, F0| HAS LIEH = MX[AL
7} O|{X|=2 to7} EH7H 2p0F FHCE,

ai | (1) Lhe HA MRHO = FiCt

(2) S0l B2 AS0| UL

(3) Peter= OHY OFE! Stul0i| ZOJZHY,

5141 | IS LIEIS 20102, BIOIE F0f 1t 0185t
o ‘It / =0] WRCHsnowed) / 20|(a lot) / XA 20
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7} 304, doesn’t run0| SALOICE, 184 2&2 (F0{)7t ~
SICHE SHAISITE,

o2l | run (YHM7t) 2Lt

S | ZZSAL look2 2¥A SALE, =4 H0{ X12(0] &
APt 2LC

sl | (1) "F=0l(He)+SAHgave+Z =X 0{(me)+EIE=
Z0{(his phone number),2| 48441 2%0|C},

(2) '#01(This hat)+SAHkeeps)+SX0i(you)+EXA &
Ol(warm),2| 534! 2FO|Ct.

atisd | (1) = LollA 19| HEMS S 712X A0,

(2) O] 2Xb= HE WSESHA| ol ZC.

i | HE2 F0i(You) 210 SAHE0] T 40fl =4,
2| AO|Lt Fo pleaseE £0IH 25 O HETH FE
H30| =L,

012l | leave ~2 (01t HEf - 4 SOi) ICHZ FCt

iy | &

]
(Where) 940{HHE=X] 2= XO|
SHAT | A: RS R QUL?
B: X|Zig 211 0.
A: 22t11? o]0l A U HRH=H]?

B: OfO} A0 =11 LHZ! 24 Z0L,
514 | How ZEH22 "How+EEAH+FH+SANLS| 0=
OF HEAIE ZX& I M1 What ZEHE2 "What(+a/
an+FSAHTA+F+SANLC Ozl BAE ZXE
M 2204 E”*Pf S20|AL A 4= 9l= HAIO|H At a/an
2 MX| k=Lt

541 | 1 0|RE2 WL ZIHSICE — T 0|RE2 MY 7™
SHLH — (OS2) MY ZIHSH 0|RS0| LY
SHA | (1) HH7 DIpA S HRACH= "ol Zuyo| o|n|7t
E|TE so7} YOt
(2) in the library2t in the gymO|2t= 22 82| 2%
HEg HZolll E F St 20|l S A0[2k= “MEY2| 2JO]0|
o2 o7} Yatch
5HA1 | (1) XILb= HRZF 2Ok ™AL U RS HE HAULY
(2) Jack OO =EA{2HO|Lt M|IS2t0f| QLS ZO|LCH.
5i& | thatO] 0]I1= HAPHO| SAL believe?| =X04(it)0|
B2 that2 believe F0fl £0{7t= Z0] YT

:
g + YL,
H
HA

A(What)g 1 °'EXI 8 s OO
N
o

a4 | L 200 A0 e 2xds 2
— Li= W7t 2O140] A As BE o YUNICL

i | AlZES LEHHE BEAHwhen)Zt 0|11 SAFEOIA
= OI2HE LEFE [ HARAIRIE AFSSHEZ, will getS get
O= 11X{Of ot

SHAL | LHZF 23201 =261 LHofIA| e S,

11 LIA SZ0l| 25

13- 2RO YA ER / 2iZol 3]



L= 2njo|E=, 212t ~gh S0f'2h= 2|0|Q| LAt after?t

~5}7| T2t 2l012| FEA beforeZt 2SI,

5l | Brenda= 2 EMI0fl BI0IM SU SZ0] 2R
of

2Lt = Brenda= L7} SZOf| Z2(7| T F=2 2M|

= Brenda’t &2 EM0]| SHoIM S1UH 20| OH= S

Of SHOfl M = UL,
0{2] | catch the flu SZi0i| Zz2|Ct

1= zol-szzn=00

A1 Jenny 2 Emily 3 Ron B ol &=
C1Don’t 2How 3go 4arent D1 Josh
said that he didn’t feel well. 2 | was so happy
when | got an e-mail from her. 3 | was able to

finish the work early because he helped me.

A1 G2 | lives 184 SAMOIEZ, Flof| HAS LEt=E M

XIAF7} O|O{X|=E2 inO| S7H| 0F SHCY,

ahA | R2| HES MTZIAATO| A1 AN,

2 G2 | "TheretbeSAHFO+AI01F, HEHS| 1AM &
0|11 0| many beautiful flowers7t £40|22 be

SAHE are7t YSICt,
SHA | LY Hlojl= OFSCHR 250| 0| UL

3 &l | ZZt= At look, smell 52 =4 H0f X[12[0]| &2
A7 2B looks delicious2t smells bad 7 STt

54 | O] X|== SERA0] HOIX|2E, J1OFSH AN} L,

pPp. 34~37>

B1 \Cindy \ can play \ the electric guitar.

c1

D1

i | "FOHSAHFH0LZ 0|01 3-A ZHOICY,
oAl | Cindy= 7| 7|EtS AFE 2= UL

012 | electric guitar T7| 7|E}t

| My cousin |sent | me |a beautiful postcard. |
o | "FROHSAHZFESHO+EZSH0LZ 0|R0T
44 2Ol

aliA] | L AE2 LHA| OIS T2 BME 2L FULCL

01| | postcard €M

| 1]always keep | my house | clean.

i | 'FOHSAHEHOHEHY 202 0|0 58

5HA | L= L B2 S THRSHA R XIS,
S | B HEHEL SAMEE 20| Don’t = Never

5 | #8At beautifulg ZZEot= "How+SHEAHSF
O{+SAH, HEfO| ZELRO| == How7| 2t0F STt
oH21 | SHEHO| M OFSE-LY

S | LESALZL U= QAZA RER "R AHdo
[does/did[+F0{+SAIHE ~?,0|22 go7t YT},
aHA | U= St THE|o]] Z2ELI?

S | 2712222 o 80| SYE0|H EHAHOE M
OF $iCt, M2tM are| B8& aren’t7t YL

5H41 | Nancy?t Jane 7H ISt ZI10F, JEX]| 4L|?
ai& | ~2t1’e] 2|0|E LIEH = HAPE HEAN= thatO|

Ct,
s | '~ mf’o oO|E LIEHHE BEAME &A=
whenO|C},

s | ~ot7| ME0f'el 20|E LIEHHE FARE HEA=E

becauseO|Lt,




= CHS0f| 2 811 4/01? L= E2{TAHE EfL 40

042: DI‘PJBH, Emily. Lk= =0] 01211 XIM0. L= BX #ItE
OFAOF 3H.

3 041: Evelyn, 57} 42| 045440|0F?

02: @, Tl 7|7F LT A, Ol E5t LIPE 71 M2
101, JIHE 3ot &2,

4 MilesOlHl= & Ho| S landt Simon0| ULt IS2
Miles=C} & O2|CE lan2 1240]| 2, Simon2 10&0ICt. lan
2 M = 71% 7|74 3L,

2t
=

ufn

S
21 THed SIH 242 © pp. 40-43)

1) Quiz 54 | SX0f Xf2|0|92 SHAD} QorCt,

541 | ARSSS SOIBRIIN Of2f 5

71X 501 7|72 Ets 22 S0, *Q, Godd

012 | ride EtCH; =0] 7|17 » % M
—2 TR @

amusement park S0|3#

2 Quiz &HE | toREARZE BARKE X0 2H9| F

O Hek2 otal UL,
SHA | CHE sh7|0ll O £2 XS Hi= 20| L SHO|CH
0{2] | semester &t7|

3 Quiz &h¥ | ~ciM'2l Qoj= Z%(glad)2l #2lES
LIEtLE= toR™YALE MO SHCH toR ™A YEil= "to+SAH
3 ,0|Ct,

541 | L= HE ChA| DHLEA FEE 7|80

1-2 playing table tennis, CiLt= EIH1E Xl= A2
Ck  2-2 to take a break 3-2 X4 AIAIE ZH|5}

—
1
N
ol-

& | SHA playing table tennis7t 80| ggts
ot UL,

02| | table tennis Ef7
2-1 oY | U= =22 € It UCL

012 | have a bath S22 5iCt

2-2 ol | toR ™AL to take a break7t SAt wante| =
0|2 ML,
SHAY | L= &7t A
02| | take a break FAIS F[SICt, &7t #{Ct

3-1 &M | Lk XIS 37| flsh 7
o3| | purse X|Z

3-2 A | toB AT SAIE $AlGH= —'?'—M 2SSt ~
57| fla2t= Qo2 SXS LIEHH LT QUCH
SHA | 2= X9 AMALE ZHISE7 | loH Toi L& ST
02| | get home H7I5ICH prepare ZH|GICH

4 Quiz &M | F=utgt -
STS5S HlWstH 377t 225
LIEtLl= SX0|BEZ, Tas+33
+as,2| #a Hlu 7t LSt
siA1 | 2 HE2 513 EE 30

1= O

5 Quiz &i¥ | 23M K= =M XECHE Bel
2 32Al short| H|WZ shorter?} L2t}
SHA | 2EM XM= Z2M XFHEC O] R}

6 Quiz &H¥ | ‘7H% ~sto|2t= Q0jQ z|l4F H|W
T30 Z|0{0F 5I22 longS longest2 11X{0F STt

4-2 fast 5-2 @ 6-2 the coldest

4-1 SiA | i 2 LH OFHXIZEE 7|7+ ALY,

4-2 Y | 25 HIWE Tas+RE+as,S| FEHZE 201 Ol 2%
2 my dogit your dogO| H0tLt t2A| Ef2l=X| H|w
ot ULCY,
sha | L Tl Hel 7HERE el FRnt

5-1 5HA | M2k E|M=7} A EJMRECHE 30}

5-2 G | J-C= HOF ZA X[Z0] A4 XIZECt Tf M
B2 cheap?| H|W& cheaper?t Y5t
SHAT | ZHAH X|240| A2 X|ZHECH T MICE

6-2 G4 | B2 HOI 29| 7|20| 7t& Hooz =29l

B3 3 7H £2 9 20|22 FL'0j2ks 2jnj]

[d9] ZAZ coldestE M1 A0 theE 20|

2% - toR Mt SEA/HIL T2 33



1 (1) =0, MAE ofdsts A2 d2 T oIt

(2) X801, O 7|Xt= ES6|E AS3MCE 2 (1) AL
H= TV B2l BE= RS % totL|? (2) AL IS &
Sot7lof 71 E2 HE

27| ol =Ad2tofl 2k
ZAZECE 4 (1) as, as (2) as,as 5 (1) smaller than
(2) more diligent 6 (1) ZIAOIIM Z7FE HIMICE (2) O] &

9| 71 of2i2

1 &4 | (1) TravelingO| 0|T1= SBA7L 2%
L.
(2) asking0| 0|I1= SBAIL7t kept2] SHE MAALCH,
2 i | toR ™A HAKE M0 2RI 30, 204, SX{0f
& 2 91, HBAIRIE 0] NS HOWN 4412 4

o FoZ M4

£0 18
i
o

(=T

3 GiE | toBHAE
2 LIE 2= QUCh

4 SiE | = AR 7|7F 20, LIO|E ZOEE AF HIWE M
M LIEPd 2= QUC}, #1F H|wE= Tas+@E+as.2 £2L01,
5141 | (1) Josh= Randy2t2 7|7t 7 2OICt,
(2) Randy= Josh 2= Lt0|7} Lt

5 & | F S HIwE M= "Hl W E+than S 0I88LTH. H
W2 FBALL FALR] FHoi| -(e)r2 £0|71Lt, A0 more
£ MA| BH=CL

6 SiE | O TS HIWSHH HE7t 71 &2 A LIER
M= "the+Z[4=.2 0183t1 (~ B0IM) 7H ---8t/--5}
A'E SHAISICE, ZIMS2 AL 2ALR] FHo -(e)stE 2
O|ALt, A0l mostS MA] BHELCE,

ALY M0 SHOILH HHY He' S

pPp- 46—-4‘9

SACLENE]
(2) Dl Foi £ M= 22 BOFHCH
(3) 29/ 22 &7 5 SHLHE OFH0Y XHAIO| FTHE HE6

A

Fl'l:

1 ® 2 make — makes

1 i | ™MXIAFine =X XI2|0|22 &
USICE
54 | Lucy= 22 CIXRIRISk= 0l 0|7t ULt
012] | be interested in ~0i £0|7} ULL, ~0f| £AO] QUCE
clothes 2

2 o | 0| Xj2|2] SHA=E T FFOIERE Fof| T SAL
7t 20F SiCt, M2tA SA makeS "SAFREE+-(e)s, SEHQ!
makesZ 11X{0F StCf,
S | Ao R 2&0hs A2 FAIS 74U5HA BHELL

02| | reqularly #aHo=2

HAt designingO|

HEF2 [ maogm |
S | @2 toR ™A= 22| BAL chairE #Al5t= SEAIAE
MR LIHX|= B5F HARE MAACE @ FO{(EIF

EX-I()-l @ E()-l

SHM | D O HE RRok= W2 =
@ 22|= 22 X7t M35 QiCt.
@ L= 21 At0]| Cisl Ok= 20| LS|t
@ Ol0|S2 H7I EEst A2 H 410 it
® U ME2 F|0j= W HAHE ?l6 22 U=

02| | impossible 27t58t cure X|Z5iCt

IHssict,

= Z40|Ct.

isease 2

o I'I

o1 ZHl

1 (1) nothing to tell (2) to visit your new school
2 It is hard to solve a Rubik’s Cube.

1 & | (1) toR™AL to tellO] nothingS FOIA AI5H=
£ nothing to tell?| =2 = H{ESILY,
(2) toR=AIZE SA hopel| ZZ0| &S SIS to visit
2 WX M1 visit2] SX0] your new school2 0]0{A] HY
goict,

2 G | toREARRY it0] U= A= HOt
71301 it2 M 2 F TF0 toR-AE
Flof A= 20| LSCE

si4 | RRIFEE F= A2 OELL

I'H

23 (maom |
i& | (1) SHS LEHHEZE ~517| SI5H 2 sHAISITY.,
2) §0f| ZEES LIEH = S8APJAC D 2 ~ollA'2 SHAISITE

/-\ °||



(3) A2l HEAt easyE +AIGHEE ~517 |02 SHAIGICE
(4) toR ™A & LHE2| AntE LIEHHEZ ‘~5HA] ---SICHE oH
MSiCt

1 (1) to ask (2) toread 2 in order to work

1 & | (1) ~ot21'el Qnjo|2 2 =XS LIEH = toR AR
M= 20| KIHARLCE,
(2) ~aliA'el 20|12 Z7H2| QIS LIEHE toRHAIE &
= 0| XIAAHLCY
02| | surprised =2t
2 GiH | SXS L= 2AK 82| toR™AK= "in order
to+SAFE, O 2 HIFY £ 2= QUL
5i41 | Eddie= Y2 St ESS ZICH.

01| | turn on (M7], M& 52) 74Ct

P

=4 (mrom )

SHA | XA EXOZE = toFHAZt OF SHALE MOf 312
2 to moveE moving2Z 1TX{0f StCt ESt want= to5H
AME EYZ M= SAI0|EZ startingS to start2 1X0f
SICt,

5] | Lz A2 O|AfSh= 0] CHaH 442t S0I0k L= M=
A= ARG 401,

0{Z] | move O|AISICE

1 (Musing@tolock 2@

1 &2 | (1) (A1 &for) st
ALOICE,
2) (He=) ~& As dotet=
0|Ct,
012l | lock (2, XM241E) &AL
2 G2 | enjoy= STAE SHOE M=
£ playing@ = 11x{0f SiC},

a4 | 52 T= UQUO| HIDR AIYS she RS S0

~olj ECf2t= Q0= "try+3S3

2|0|= "forget+to R AL

SA0|EZ to play

@ m 13 M2t 0 pp. 50-51 )

1@ 2@ 3(1)Heis good at taking pictures (2)
Can you recommend some books to read 4 to
get 5 When he starts to write [writing] a new
series

1 &lid | SAkwant, wish, refuse, decide= toRHAIE =
HOZ2 MX|2t avoideE SBAE SHOE 20} M2t @
= HIZHof S0{Z 2= QiCt.

SHA | William2 M S0 MSHE A= A2 HZHCHHEACE
7.|x-|oH|:V74x-|oH|:H
02| | refuse HESICE HHSICH avoid IS

2 52 | @2 running2 A2| beSAt were2t &7H ‘~ot11
UACY k= o|0[2| HAHTIMHFS 0|F 1 LHHK|= 25 HO|
A2 Sh= STALO|LCH,

5141 | D 7Ky B23 22 IS0 MBS T ol
@ 27t 74 EO0I5Hs 22 WOR=S AFSHs ZHOIUC,
® Anne| B2 SIS S T12Rl= Zolct

=

@ S22 ENNE FIED UAC.
® W &2 HIgAZ} == A0|L,
02| | save F5iCt run after ~2 FZCt

3 i | (1) MR SHOE= SHAL B2 takeS
taking2= 11X good at Fl0il £2Ct.
(2) ‘A2 '0|2H= Q0|2 toBHAL HAIE $AlIGIE=E
readS to readZ X some books FO0f| £2Lt.
012l | recommend FX5ICH holiday &7, et

4 SHE | 'Y7] foiek= Q0|2 ‘FA'S LIEHHER toR ™AL
to get2= MOF SiCt,
X2 oA | Austin Miz SEOI| AT T= TV E2H0t CHE &}
710|Ct, 19| DJAEZ| A|2| 2= gt O 17| QUCH = o]
LSt OLO|C|E 7| foH O3S TO| STt 17t M2 A2
ZE MI| AERE M, TJ= 7 A St SAEK] THO| QUL
X EQO| L= J0iA 12 E
2t0re| Opx|ef oflI|AE0 CHal =
AX|2E D=2 TVON EAH 2 A
2HCH Emma. 2t YHCE Of, Lt
= 82 7|CHHTICH

5 & | A &AM wheng BN £
At SHO0IE X2 HY

ol

7l RARRS 30, S
FotCt, 017t heO|2E startE 3¢
T Xl eI startsE X[ Fof| SHOE 2Ot
start= SBAIR toFHAIE B5F EHOE £ 5 U= SAt
0|22 At writeE to write = writing Q= £2LF,

2% - toREMt SEA/ HlL T2 35



pp- 52~55>

H=F] (maom )

s | (1), (2) &3 HlwE "as+BE+as,2 2Lt

(3) ~2| & H{PHE ---5t/--SkAI'2H= 20|E LIEHE molli= as+
He+as, A0l i~ BEHS 20t 'F 'S LEH = il EH2
twiceO|LC},

541 | (1) HE Harris M2 2] 28 4 AL?

(2) Lt= L Q1L 2+ 2] ot

(3) O] T2 MZ2| 5 HHZHZ HIMICE,

1 &h& | (1) &5 Hluo 22 "not as[so+HF+as,.2 &
o, ~2HZ ---SIX| §22/---5IX| LA E SHAlSk= 0] KA
=]

(2) "as+&F+as possible 2 ‘7St
StH, possible CH&l "30{+can.S &

2 & | Tksst 8t ~8t/~5tA 2l Q0] Tas+RS+as
possible; = Mas+@Z+as+F0H+can,2 LIEFH
ULt

| ~t/~51 2 A

3
2 it

[P

=2 (=rom )

54 | @ highl ZA4E2 highest2 2L}, zME2 2Y I
20l mostE M= A2 32H 0|H0|AL} -ful, -ous, -ive,
-able, -ing 822 ELt= HOO[C}. the most highest
tower — the highest tower

54 | @ U IR0 0 TAH eig =~ AL

@ 0| 2EZ2 MAECHHL?

@ 0| A2 MM 71 =2 EOICt

@ LIfIAI=, Hl 0[0F7 |7t B2t=Lt Of SOIELt.

® M S0| oI AH=LL o SOt HO|X| §4=Ct,

gtol 2|
1 ® 2 faster, harder
1 o2 | 720t IBAS H{WSHH 7|210] HO|E O HA He
B2 A BI7H0f= littleQl HIWF less7t LTt M =
7N 7t 712 Zo| oo =2 = Hf HIZHl= muchel |
A7 20l theE =718t the most7F YSICT

36 =3 Yoixak BOOK 2

s | - 7|22 TEAECHE MA| H=Ct
<INNE= A B 71E BHO| H=L
012] | rhino Z&4
2 ofd | Z4ZH M "wel'et ‘M gASIetE Q0| LIEIES
fast= faster=, hard= harder=2 11 X{0F SH},
SHAT | At LHZF OfDA| L ECt o 2| 2 4= QIST}?
B: LIECH o F4I5| H&5HO0F .

HEE3 (maom |

54 | "HlE+than,2 ~ELCt O --8t/---6tA 2= 2|O]o]Ct,
Olivia2t Liam2 H| w3tz 50| FAQIK| & msHOf SHCt,
54 | (1) Olivia= Liam 2Lt 7|7 & =Tt

(2) Liam= Olivia=C} Cf Lto|7} Lt

(3) Liam Olivia2Ct & Y& ZXt2|0f ELCt,

ol ZHl
1 (Mred @ red, blue 2®

1 &g | (1) =2 320 H A2 32 w2 30|
Q) =2t 32 7IE2= ¥ 30| ¢ 21 o2t 50| H 3L,
aiiAd | (1) 2 32 2 SO T Al
(2) =2t 2 w7t SEC0HE IX|T Tt SEC0t A,

2 ¥ | ~2Ct ¢ -3t/--5hEks QJl= THldE+than,2
= LIEHHLCY,

HEL L (= o
54 | (1) A =04 Billo] 7K 7|7} Rt
(2) %

) A S0l EmmaZt 71 2| g2t
3) M S0l JuliaZt 7HE LIO|7} of2ICt,
H41 | (1) Bill2 A1 & 718 7|7} =Tt

2) Emmas M & 713 tEHA| ZECh
(3) Julia= A & 71 of2|Ct,

—

ol

—

201 ZHl

1 (1) the cheapest (2) the most expensive 2 @

1 sh& | (1) M 2RIt 7K MESIER, cheaps 2422
2 07 F 40l theE £LH
(2) 2-M BXp7t 7HE HIMEZ, mostE 0|8610%
expensiveE 4522 1T F A0 theE 2L},
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S DR} IEAOIA] 7HE MBI
DX ZEHOIM 7R HIMCE, <P
t= Hlw B2 "the+z|AE+in/of +BAHT).E
|7} B4 SAIY DOl FXIAF of S 2L}
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0%
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@ DL 113 HEl O . 56~s7>

1 (1) the tallest (2) as old as (3) shorter than 2 ®
3 (1) is the most popular restaurant in this village
(2) finish the work as soon as possible 4 @
5 this soccer ball is more special than a World Cup
match ball

(1) W37t Al F 71 =C B2 "the+2lMT, FE{Q|

w
0%
[0
rlo
El
o
HI
in}
i
|0
(O
tu et
=
El
oy
&
>0
Q
=
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=I'E
o
=
El
il
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ol
fjo
=)
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(2) stu= w3 ReHE|RAC,
(3) A2 ws|=Ct O Jet,

s | ® "Hig ESitast+EGtas.= ~2 E HHTIE -8t/

--5tA'2k= 2[0]o|ct,

54 | ® el 710 LY AL} = Hi2HS f HIALCY,

si& | (1) ~ollM 71 -5 0l2k= 2lojo| z[Mg B2

the+ZMZ(+BA+in/of +ZEALOICE,

(2) 758t §t ~5t/~5tA'2l= 2J0]9| H| HJE fas+@m

+as possible 0|Ct,

S | ¥F Hwe BH2 "not as[so[+&F+as.E M1~

012 ...51X| L2/---5IK| LAI'Z SHAISIT}.

X2 ahA | M ® S8 22101 ths st AEULCH X
ZHAO| S4t0lA O|R2Z OJAIE REELICH XMB0il=, N

—
£ RIZRE B0t UK YUSUCL K= BF 0| o2 B

e | ~2Ch o --3Fol2k= 20|E LtEtL{OF St22 TH|W

=tthan S 0|83t &AL special2 HIWgCE U=

I A0l moreS £2Lt,

=l]2) ML HE F2EO

pPp- 58~61>

1,6 26 3@ 4ltisnoteasy 5@ 6@

7 | often practice playing the guitar. 8 @ 9 (1)
as large as (2) not as [so] expensive as 10 Drink
water as often as you can. 11 smaller than

12 the worst, better 13 Jake is much taller than

Chris. 14 older than 15 ® 16 the freshest
seafood in this area

SHA | BAIME M0 22 O QS S U= A2 S
AL} to R -ALO|CE,

5iA | K21 FHE He A2 W7 71 Z0t5k= F0[0|CH,
012] | pastime 0|

A | ®2 L& 2 BE2 2o HEE k= SHALO|L, Lt
HX|l= 25 "beSAHSAIE-ing, AEHS| TIHHO|CE
54 | @ Lz S22 MStS a1 UL

@ L= 2o 2 5t JAL?

@ Rel= IHE {IoH THEIE ZHISHT UAACE

@ 1= 30| 2/l F7HE 21 LY,

® J149| 22 st oto| IE 742 425k Z0]Ct,

013 | seed M|, ZXt

SH& | TXIALInS] SHO| X2|0|22 FHALL BAL HEhs 6t
= O{717} 2A0F SiCE, toRHAbE MXIAL| ZXHO0{E MO|X]
o2 SHARI @ drawingTt £ 4= QUCE

3HA1 | A: L= 001 2H210] 1047

B: Lh= BISHE J2)= Z40] 2410|101

SHA | 012 toR ™AL FIZ UCBE TIF0E 0|88t
It ~ toR ™AL LE2US & 5= UL

34 | A=0E HiR= A2 HX| %L

e | @= toRHAZE HAXME X0 SAt remember?]
S0 92 5t U1, LIHX = 25 =5(~517| fl5h)'s

LIEfEHCY,

s | @ = WS 27| flol 2IIRE F MO
@ Lt= HEUME MIEGHOF Sk XS 7|

2% - oREMt SEAL/ HlL T2 37



10

1"

12

13

14

15

o .
@ 159 EEIEE %EFOP I 1—I3H Ealo| ASAU.
® L= &2 W7| flo SRS ZAC.

02| | flour Y7t& audition 2C|M

S | A0 A THE UE AU=X 2= W22 S
HAIS SEO|Z MOF SITH toR™YAIE MM ‘= LI =A
S US7|2 § Yg JUL72h= 9|07} ECh

54 | practice= SHAIE SEOZE M= SAI0|ER play
£ playing2& 1T practice F0f| Lt

& | @ deny= SHOZ SHAPL 2= SAOICL to lie
— lying

a4 | @ JH= TS0 2ol AAESE AS 2

@ L= M40l =Z5k= A= Z0tRITt.

@ Joe= 17t 7FE E0t5h= 55 AFOL7| AIRIRUCE,

@ j_EO OA-I% II_'__|-7'<I'%P Al §H|:|-_

S
rugl.' mio
d
=

Aret
® = ZE0A TS T
012] | deny £QI5iCt sh
refuse 7{£-3ICt

514 | (1) ®12 H|WE Tas+ RS +as 2 2L,

)] %E.‘ Climiel ‘="é*,8 not+as[so]+&F+as 2 2L,
3|A Z40K=2 3t
S 0 HIMEX] 220t

gt ~5t/~5tA'2t= 2jol=
possible, &= fas+¥Z+as+F0+can .2 & £ ULt
HHZ0|22 Drink water2 ARSI ‘A, EF'0|2t=
o|0|Q] HAt oftenS as2tas ALO|0f| 20| 2&S 2HSITY,
4 | ¥2 H|We| B™M2 "not as[so+&HS+as,& M1, ~
-OtK| 42/--5IX| LA'E SHAISICE, LY &o| QL2
fOrE K| 4Ch= Y2 I-I°I SfECt &CH= 2|0[O|C,

| 3X| QO = L &2 Lo &
PN

Tas+3 5 +as

ol

i 2 Q1Ljo| emt

L=

| 2ol A iy HIZH0fl= bad 2l 201, F Hi
o= g

ood?| H|uW50| S0{710F StCt, Zlabg 20l theE
M= 00| RSt

4 | JakeZt ChrisECt O 7|7 322, FOE JakeZ St
1 than F2| B LHAS Chris2 510 HlWg 283 &d
ST muche= HluE 240l A0 H|WES 2Rt

SiA | Jake= ChrisELCH &M O 7(7t 3Lt

SH& | F0{7t Mia0|X Lucas?t H|w! CHMO|ZZ, ‘MiaZt
Lucas&Ct O LiO|7t HCtek= 2|0je| W& H|W 22
ettt H|w g H| W= "H| Wg+than L2 &Et
A | 210249 X|S0| 71 =082 Tthe+E|
AD+in/of+BAKT), FE{ Q| &= HW BHS OI%OHOF ?’J
Ct. M2t @2] smartergE £[&= the smartest= HHYOF

38 st Yoimzk BOOK 2

16

1

ST},

SiM | Ee= A B0IA 7HE ££5 SS0|C

1A | freshQ| ZAFE the freshestO|22 mostE X2
St LIHXIZ HIEA| HESHH £[MF H|w 252 248t

o=

r

uhd [HE HEt e

pPp- 62~63>

@ 2 (1) Working outside [To work outside] is

very hard for anyone (2) They wanted to practice

dancing.
chairs to sit on.

3@ 4@ 5 Please bring us some
6 (1) the cheapest (2) the most

expensive (3) more expensive (4) cheaper
7 Noah: more, notebooks / Victoria: fewer, ruleres
8 spent as much money as Noah

| 012 23| toR AR BEA
| 22 %2 @OICt, LiniXi= B BA
Sx{0f @ FOI(EF0) @ Hof

841 | (=71) Op 2 & E27R?

N%*. &9‘1[}. @, @

o

A
E
pd el
E
ealo|

O = 0|“*%3 = 20| HRaICY,
@S %Qﬁ% AT
A4l 0I0F7 I% 0ottt

HE T |E S|UsiTt
i | ( ) S oMQ} toE ™A= B O X120 2 = A2
B2 SAtworkZ working £ to work2 11X0} it

(2) want= toRHAIE EXH0ZE M= SAL0|L, practice
= STAME 5&*01% M= SALO|CH MU0f| SHA| SAR] &

EiE AT

Sia | A0 AELIE CHA2 Z80| ABRE 71E1} &7

AMELE "o} AS J|dstit' = 902 SEA

traveling0| O{2ZILCY. visite Y2| HA} placeE $4l6k=

AL FE SIEE toR™ALRE MO BtCt ESF hope=
FHAE SH0E M= SA0|EZ to goE

St

3HA1 | L_I-h

M= 0| Y

7150 AELIE o
WM N2 71
2017104 STl ZAULCE L= 1
20I| CEA| 717 |2 HEZLE,

S | toR ™AL M toR ™AL 20| notO|Lt neverS
MA LIEHHEZ, We decided not to see the movie.2

ot a2 Y




M= 20| MHSILY.

S | toR L] A1 = YA} some chairs7t sit on
some chairs®| 2|0|= HX|A} on2| SH 07} £ to sit
F{0ll onS MOf SICL,

s | (1), (2) Fofl Hlw He7t e A2 HOt 2ldas
2 M= 0| MHS|LY,

3), (4) ~2CF2t= 2J0|Ql thand} H|w CHAO| Fof LD
2 HI3S M= 740| MES|C

SHAT | (1) Akt ZHAI0NA] 7HE A ato|Ct,

2) W22 THAI0IA 7HE H|* 20]CE,

3) Y= SSOMEC} O HIMCE,

/\

f\/\/\

4) A2t M| 7H7} E50F 5 JHELCEH T T,
S | FANS HIWSH JUEX| mfste E4F L} H|w
ShF HIZHo| Sk TS 20t
54 | Noah: LI= Victoria 2L O H2 HES A, 114
= W74 AECHE B2 S ML

Victoria: Lk= Noah &Lt § M2 X|RIHE A1, = W7t
A QHCHE B2 XIS M
SHA | & AIZO| 22 20| o0 Z 7 H|W HH Tas+&

Z(+HAD+as 2 0|23ICt.
541 | Victoriae= Noah2H2 W2 =5 MLt

o

)z =Lt Ee me pp. 64-65 )

1@ 2 tofix 3 much more interesting than
4 ® 5 (1) to surf the Internet (2) to get around
6 ® 7 (1)It, to build (2) in order to catch 8 as
short as 9 to see you, to see you 10 (1) taking
pictures (2) dancing to pop music

afe | A 29

SIS 4 U,

HIZH2 HO| X12|0|22 SHAL to
H 282l HI7E2 want2| X0

XIZ|0|2 2 toRFAINE 2 5 Ot M2t SS2=E S01E

U2 @ to takeO|Ct,

aHAl | -Lh Y2 OS2 E5= AO|C,

‘L= ARRIE ®7|1E 261K =Lt

S | try= toF ARt SBAL BF SHOZE & 5 UKX|TH

o|o|7t CH2LY, try+Ho R ™AL = ~St24 10 OHML, LS}

9| 20|11 "try+S A= (AI™ &f0F) BHH ~3lf HLFO|
o|ct,

012| | broken EAMZI
a4 | ~ECt O  ---8F0j2k= 2|0l "HlWg+than.2& Lt
EtLHYT, muche HIWES ZZ517| ol Hlwg 20l 20t
e | ® HWE2 EA/RAR 20 -(e)rE E0I7LL
Ol moreE MAf BHELY, easy2| H{WE2 easier0|22
O moreZE HH{Of STt
A | @ EfY2 EELCH ST,
@ I M= FQILC O 2| ZAAULCE,
@ U XH= L el A=t O AjZ0|Ct,
@ =2 O{M|=Ct Of Lt 925 Z40|Ct,
® 0| HE2 MU O +9f 2QICt,
012 | owner 294}, F2I
S | SAIE toR™AIZ 1A ~of7| 2l 2t= Q0|2 X
= LIEH == Tt
541 | <71y Lh= L AlZHS &2[5H7] Ioh ADIEES AR
SiCt,
(1) L= QB MES 517] 9l ESS ARSI,
(2) Lk= 047|X7| SOICHL 7| I XMHE AMSLLCY,
012l | manage 22|5ICt, ZHSICH laptop LES HREH
get around (0{7|X{7]) SOt Ct
S | B= toR-A BAME A0 hope?| FH0 F
= ot U1, LIHX|= EF AT A2 A 4
-

oF ot

® Daniel2 1E T8 U2 2I7E0| QL

@ 2= H SUS0| 2ol 2124 0|07 |3HLH.

® L= HIF=E Y=o HIZiCt

01| | mission YT complete =5t

3H” | (1) toR ™AL 02 MRS [, :0{ X2|0]] 71501
tS 2 F T2 toRYAME Y FIZ 2 = ULt

(2) SXg LIE= 2A 882 toRHAK= in order to

2HHE —’.‘— ALt

aH41 | (1) SR 2t HE A= A2 E7+SSI

(2) Jakez l=|'I*E Et7| flof He2| ERC
S | = F 702 207t 2222, 25 Hlw B3 fas+Eg

+as S Ol

541 | = A= = BRIE EICh

e | SAt seeE toRYAIZ TELL, SHO yous 242
Ftol0 2ES 2GSt AQ toR A= HFe Hes
LIEtLE= =AI0{(RAN0] 2, BL| toR ™A= SAt hope?)
SH0{(ZALOICY,



10 & | (1) TXIAS] SH017F & 2= U= W2 STA0|E=Z

takeZ SHAt taking2Q 2 11X 2XI2 2HMSiTt
(2) SAt enjoy= SHALE SEOZ M

Al dancing@E 11X E&2 2SIt

514 | A: = 20 20| AL?

B: L= AREIE Bi= 20 20| U0, Li= SO MRS

)z zel.-gst3% HEt0, 0

A Sl &= B 1 to fly his kite 2 playing soccer
3 tojog 4 toride a bike 5 inline skating

C 1 longer, as long as 2 higher than, high, A, B
D (1) to play with (2) to protect my skin (3) to find
directions (4) to take photos

ro

Ct

A1 i | 7FE Z(the longest) HES S210F &HCt
| 2Ee?

i | CHAUJH SOIM 71 20 SRS LA

n

2 o | 7HE 7] Elthe tallest) LIRS S2H0f SHC.
oAl | 01 71 7] 2 LIRS H0f2L,

3 GHA | T WHE(the fastest) FAIS S2t0f SiCt,

st | He M 280M 71 BE FAE A7HRESHO

of.
012] | scout A7IRE[LZ]5ICH

pp- 66~69>

4 5HA | ‘7HE E(the biggest) EHZtS Z2t0f STt

B1

c1

aiiAd | gt oM 7HY 2 BHYS Als A ofr?
012] | shelf At

B

Oftite| 07 {0 A2 AHAS A HE|7|Z 2SHt,
play soccerzt=
=2 ZAt playS

|.
[
I
A
1l
22
k=l
b4
o HU

= 2ot toREAR 11X SE0| 2 SHS LIEHHCY.
aiiAl | OMHX|et B2 =22 St S0l 20t

e | 0Xt= ARAAES Bt U2EZ ride a bike2h=
HHS S2t toRYAIZ 1K SO 2 SHS LIEHHT
atiA] | OAk= RIAHE Ef SOl 20t

i | 0Ktz QIZIRAIAAHOEE AHGotl JUACLE

inline skate2tz= B3 12 F practice?| SX0{7}

= SYALR 1A 20

ai2] | O4Xk= EX} QIZIRIAAH0|ES Eb= XS AHEEICE

S | Hlwg Hlw B3t §5 H| W H3HS 0S8

i1 | Of: 0= 0| CHE A0 271

= S LY MZioil= B7H AECHZI A 240t

0f: W7} E310{. BE AT Z04.

B ME? JQS0| Z0H1? HO| UL

oH& | H|wE HlW B0t A5 H|W BHS 0|85t

'S LIEHLE B8 THi4 HEdi+as+EZ+as 0| &

SiCt,

SHAT | i A B7LAFAELCHEM O =01 204,

04: 3d0L, &t B7t A A2| = HYDHE =OF,

B AS0| HotLt =207

0f: 4t A= 8000|E{0| 12, At BE= 1,6000|E{OF,
sH& | (1) 7EX|22 =0[2k= 20|Z 22| HAta ballg 4
SI=E play with2ts B312 SEt toRHAIR 11 2L,
(2) TRE HSE0[2k= Q0|2 2| BAl a cap2 416t
& protect my skin0|2t= E31S 2t toR™AIZ ITH
£C,
(3) Wk 37| o JRS(X=Lt LIREN0| HRSITh=
Q|0|£ find directionsE 2t 2XZ LEH= toREA
2 X 2L

1o ¥@



(4) 7HHI2tZ AFTIS Bl= 0] AIHAAHREZ AREIS 27|
flali'2k= 2|0|= take photosE =2t SXS LIEHH= to
EMALZ 10M 220

sl | EX, Le = R Fat FEEXE #2301, L E8t
7HRA = S O ZHE L IRE 2S5 BXAIS 0]
L= X8t LIRS ™20, L= **01I ‘I Yek= 27| flof
:Bdéoln'o H L= ot AR

ﬂgfsl.-’-l’l&l.l-l%ﬁi =k pp. 72~75

sid &E 2 (1) me, AL help2l =Z0{ xIZ|0|22
B2 QIMHHEALE USECE (2) sweet, ZZSAt taste2]
2 20 XI2[0|22 FEA LBt (3) interesting, 5
Al SAHfind2| =XA Ho{ Xj2(0|22 JEATH LS
(1) What did you eat for breakfast? (2) What an
intelligent woman she is! (3) How difficult this
puzzle is! 4 (1) Ms. Wilson couldn’t sleep well
because she drank a lot of coffee in the evening.
(2) When | called Tom last night, he was taking a
shower. 5 (1) most (2) earlier 6 (1) They decided
to make a soccer field on the sea. (2) | recommend
trying ice cream on a cold day. 7 (1) is excited to
win the race (2) to stop eating unhealthy food
8 (1) Do you mind turning off the air conditioner?
(2) It is not safe to eat wild mushrooms.

(1) Christmas / is / my favorite holiday.
20 B4 2o
| A0tA= W7t 7Y E0fch= F-O0IC

(2) Mom / made / me / a carrot cake / yesterday.
Zof BA EEel el

i0b= X LHA| 22 AI0|2E TH=0 AL
(3) Sandy / goes / to the same school / as her

zof FA
twin sister.
Sandy= J1H2| ‘A4S0 XI0{Qt 22 st of EHALE,

(sample) 54 | "FOI+SAHSE0],2| 3¥A EX0|C
A | 2= UM F3EE ZOFSICt
(1) a4 | "RO+SAHSZE01,9] 334! 2HO|CH
i~ | oMt} LY HIE AL
2) i | "FO+SAHTA HO|(F8Al).Q 284 ZHOICt,
A | EO Mot =t=2st Oto| LiCt
3) 54 | "FOHSAHEN+FEZ E0{(F8A).2 53
| 2xt0|C}.
54 | R2l= MER Y™ 20| Mo|UCH= RAE
oot
(sample) sH& | beSAIR| 2EAt RER 2|2ZAHbeS
AHF0{ ~?2,0|22 doesE H|2ISt LIMX|Z 0|2 3ICY.
54 | Wi7L 71 Eotshke 7t U2
(1) sHA | UHISAIR| 2IZ2At 2222 "2lEAHdo[does/
did[+FO+SAIES ~?,0|122 SAC| Y ateZ M2
St LIHX|E 0|Z3ILt,
54 | H= ORI = RS H]ULI?
(2) 34 | HAF womang X5t ZEHZ0| E/=2 how
£ HIQI$t LIHXIE "What+an+3EAH-EAHF{+SAH,
SEH2 H STt

s | O3= HE £E55 ofXtAL

(3) sl | &AL difficultE ZZotls HER0| £==
whatS H2[8t LIHXIZ "How+SHAH-Z0{+SAH, SEY
2 Hig St
541 | o] HES Y ofF+LH

(sample) sH& | X Hw 20| = HI 2L believe
O EXOZ MOl jtZ CHASHESE HAFE ™HAL that2 0]

O

—

J* — OII

Seltt.
oM | R MES2 UIHE2H7L 22 7IMHELHD &
=Lt

(1) s | HIE BLo| OR 20| S XHX| &6t 0|R0H sHE
SIE=, 0|RE UEH= 2AFE HEAL becauseE 0|83t
Ct.

5l | Wilson M= XE0i| 7IE FO| OtMAM ES = XX
SEHC}
(2) sl | T3S S M AR S0|ACH= 2l0j0|2 2 A2t
= LEH= —:—APS H&AtwhenS 0|23iTY,
Sl | LHZE 031401l TomOflA| TS I = AR S0l
At

(sample) 54 | & ALl 7|7t X10|7} LIE2, 215 H|W
H3Z 0|252H £H0] not2 'Z0{ Suho is not as [so]
tall as my brother.2 & &= QUL
a4 | 3= 717k 160ecmO| 1, L &2 717 170cmO|Ct,

=S= W FF 7171 3K QL.

oiea| 72t 4]



(1) sHE | Ml AtEfel SHS
Moo A H|w E3ES 0]

HI WS I X7t 7P B0

5t04 Suji scored the

most goals of the three .2 £ 2= UCt.

a4 | =Xz O E22 21, Kelly=

2= ULt - = X= M SN I

(2) sHE | = ArO] Toll 2= AlZHo]
ol O 2| QEZ H|WE HW B35

home earlier than my sister. £ 2%}

541 | Li= 2% 4410 &ojl 21, Lf L= 25 6Al0f &

Ol 2Ct, — L= WY QAL ECH RO & Y& 20,

(sample) 54 | SAt finishe SBAIE SHOE M= SAt

0|22 doingS SH0{Z M1 to do= MIQISITH.,

(1) 314 | At decide= oS HAIS 2XOE M= ZA0|E

Z to makeE SE0Z A3 making2 M2t

(2) 3H& | SAt recommendE= SHAIS SE0Z M= SA

0|22 tryingS SX0Z M to try= M|QISICE

(sample) 54 | 22 2|7 Yo A2l 7t= H0|IE2

At borrowE toR™AIZ HIY SXg L= 20| &

Ot()rLI

=22, Amy= Al
=2 2L

|7} L, 17
5t0 | come

5t 4 r

()

=

-

o
[

X0

0
=
=

r

I:|H:|.
afts | a2 E S U2[Y SO ZiTt,
(1) st | BZ0il 017 712 &&0| El= 0| MESIE2 &

At wing tot"‘*ME HHY 22l ©QlS UEH= Z0] &

S | O AERE2 ZBF0M 0]74A 7[88Ct,

(2) sHE | A0l EX| U2 SAS H= WS FHIWVIZE E
A= 207t E|=5 SAt stopS toR™AIE HIHY
decide?| S&0{ XI2|0f ££Ct ESt stop2 STALE FH
0|2 MO= FAt eatS SBAL eating 2 HHYOF SHCY,
siA | = A0 EX| 22 SAE HE A8 IMUFI|IE
Zalsict,

(sample) 314 | thank A for ~= “~0f| CHoH AOIAH| ZALSEH
CYek= 2|0j0|Ct, for= MXIAOIEE SAt welcomeS &
HAL welcoming 22 1 X0f STt

(1) 84 | SAF mind= ~2 7H2|C}, HROISICH2H= 2|0]
9| SAIZ Do you mind ~?'= MTHL2| 525 71517| ¢
Sl A= HSO0ICE mind7t SHAE SHHE MEZ FA}
turn2 SYAt turning22 J_x4or St

(2) sl | 2|01 OFY HAIS Y= 230 017} E|0{0F 5tal
ZFOZT ES0| 7120 it0] Q2B 2 eat wild mushrooms
E toR™AE IX It ~ toR ™AL FLE2 204,

Ry
[ mz oz E @

pp- 76~79

1® 26 3@ 4® 50 6@ 7® 80
9 There are two apples and four bananas 10 His
parents bought a drone for him. 11 How long
does it take to the train station? 12 What a
beautiful painting this is! 13 | belive that you will
win the contest. 14 When you get on the boat,
you must wear a life jacket. 15 (A) When (B) that
16 the little one gave him another chance 17 ®,
Put your hand in here. 18 because he didn’t
bring his cat to the cashier

S | St lookE 24 SAE T4 HO{ Xj2(0] S8
AtE 2Lt ® bravely= FAI0|E2 HIZH0] S0{Z 4= QiCt
A | 2] 7= =ah [HOf /g6 /2&6] 2o

02| | bravely Z5HA|

s | @ "FOHSAHTZE 20{,2| 284 EX0|1, LY

Kz 25184 2H0|TE @, @, @2 "FOo+SAHAI0]

T, @= "TheretbeSAHF0+A0171,2 1384 25

O|ct.

541 | @ OHtitk= F0i| AAICH,

@ Tina= OF=F HEH| =FSITt

@ O AE2 7|HHA S RALCE

@ 22| & H0tZ0il= 24| 7F UL

® Allen1} Jessicas 177t E|ACH.

s | (H7)2t @2 484 2X0|1, D2 584, @= 28

A @, ®= 3¥A ZHOICL

it | (271) Jennifer= LIOIA| MZIE TS0 FRALH.

@ W 1Y0|= LIE W=5HAH 2HEC

@ Avats ZZ 27t =Lt

@ Lt= LiamOf|A| ZiAH HX|E H5HCE

@ Tom2 =EAHZ 77|18 DHELD

@ Aot= %% ol ~8k2 712X

i [0l @&AHamazing)2t BAkrecipes)7t

LIQOZ HAE UAXot= ZER0| E|=2 Whatg A1 Lt

HX|= 25 HowE 2L},

S | @ 2 8107 HY 3L

@ 1 Ho[2AE= HE YIS

@ 0| HE0|52 FE =2|7LH

°

St
Z g
®
r|r
[z
S
4n

=
@ U= T =22 R2-ES 7K1 UL
® 1ZsH SHE0| Y 5L
S | @ BN HHE2 "Don’t[NeverHSANE ~ 20| &
EfO|ZZ Don’t waste ~Z MO} 3Tt wastes= LHESA}



10

11

12

13

0|22 20l beZt L gLt

oAl | @ el of4&3 X|742t

@ 9| A2t 'SHIGHA| 2Otz

@ X4 AALof| =i =X| Ot

@ M2f|7|= 2|7 | S0l H2t

® J270f| ol LA 2ot Of.

SHE | @ YEFSAI| HAHY made/t MU= RII0|F
E2 didn’'tE 0835H0F Strt,

a4 | @ 252 St OFL{OF, I™X|?

@ Amy7} O] MERQIXIE S UK, 2ZX| §LL?
@ Jack2 ZHANE Falf, 1ZX|?

@ He XIS HE = Y0, 2ZX)?

® JS2 oM A=340, 2ZX] L7

aie | @ EZat e S0 o Ao E2X| =
Q|0J0|E2, andE or= HFFOF SHCt.

i | O 7H0IS2 2K 20| MITt.

rr
gy
I
©

=
@ L= f7te| Hit SHMS ML,
@ U= OfiH M= ZO0fSH, =2 OtL|H mE?
® 2= Y= OIXfLL HHHE HS ZA0|Ct,

S
S LEH = FARE Z&AL before?t HICE

Z0{7} 20|22 beSAt= areS £2L1.

SHA | 4A 2RI 3TAIOZ HIE [ ZHHSX0] o)
XAE 20 FZ 2HCt buys 3YACZ HEE I HX[AF
forg O|&8tLCt,

541 | 2ol REEH2 J0H EE8 AL FACL

SHA | QIZAIE ARSI AR HEE QFdk= 22t
9220|222 "How long+does+F0+SAtEE ~?,9| Of
+=OF £}

SHAT | A: ZIRIE7EX] HOpLt 22 Z2|LtR?

B: HIAZ o 205 M ZELICH

i | What2Z AlRfeh= ZERES "What(+a/an)+&&
AHHAHFOHSAL 2| 0fEQ R £2L,

541 | 0|22 i OFSCHR J&O|C} — 0|H2 MY Ol
CHR & 0|FLLH

SHA | LAl thatS 0125I0H A B 2= TAHE= HE
H = HI 2X9| SAt believel| SX0] Xt2|0f] 2Lt

5HA1 | W7 21 chEloflAf 0] Zo|Ct, LU

14

15

16

17

18

Lt= |7t 21 CH=lofl M 02 Z0|2kar Z=Ct.

sl | AlZHS LEHHE HEA whenO] 0|I1= RAME
(When you get on the boat,)S MX] A1 0|0{A] FH
2 'F0{(you)+SAHmust wear)+=X{0{(a life jacket).|
M2 H{ESIC

S | (A) 2L ‘L7t OFM F2 (RS HEFS 19
o|0|17} AIAAHRXEZ A[ZHS LiEfL= fAFES 0|1= &
LAt whenO| 2SITY, (B) ~2h= A9l 202 SAt found
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